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Correct Marks: 2 WrongMarks: 0

Which of the following is an indicator of key behaviour in effective teaching as evident from
researches ?

Options:

teacher affect In develuping teacher-learner relatmnﬁhip
91394357601,



engagement in learning by students
91394357602, s g

Sy USHIE student ideas and contributions

use of process and content questions during teaching
91394357604,

Question Number : 1 Question Id : 91394314661 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Question Number : 2 Question Id : 91394314662 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In the following statements identify those which relate to ‘Norm-Referenced Testing” (NRT).
Select from the code to give your answer.

(a) Covering a large domain of learning tasks with just a few items measuring specific
tasks.
(b) Emphasizing discrimination among individuals in terms of relative level of learning,.
(c) Focusing on a specified domain of learning tasks with a large number of items measuring
specific tasks.
(d) Interpretation requires a clearly defined group.
(e) Interpretation requires a clearly defined achievement domain.
(f)  Emphasizing description of learning tasks which individuals can and cannot perform.
Code :
Options:

(a), (b) and (d)

91334557605,

(b), (c) and (f)

H133455760E,



(a), (b) and (c)

H1334557607.

(d), (e) and (f)

2153942576085,
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Options:

(a), (b) ¥R (d)

913345357605,

(b), () 3R (f)

B912334557606,

(a), (b) 3R (c)

B91334557607.

(d), () S (f)

2153942576085,

Question Number : 3 Question Id : 91394314663 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct Marks: 2 Wrong Marks: 0



In the two sets given below, Set - I provides the different levels of teaching and learning
while Set - II gives their exemplars and concerns. Match the two sets and select from the

code to indicate your answer.
Set - 1
(Levels of teaching and learning)

Memory level ()

(b) Understanding level (ii)
(c) Reflective level (iii)
(iv)
Code :
(a) (b) (o)
Options:

(11)
(i)

i
()
)
(i

91334557603, (l)

91334357610, (ll_l)
H1334557611. [:ILI) (IV)

B91334535761%. (IV) (I'.I_I'.}

Set - 11
(Exemplars and concerns)
Encourages critical thinking based cognitive
interchange

Protects personal interest and attitudinal
concerns

Facilitates recalling and recognizing of facts
Enhances scope for seeing of relationships and
meanings

Question Number : 3 Question Id : 91394314663 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct Marks: 2 Wrong Marks: 0
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Options:

91334557609, (l) (LI'.) (HJ'.)

91394357610, (i) (i)  (iv)

91394357611 (i) (iv) (i)

@) @) @)

21594257612,
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Correct Marks: 2 Wrong Marks: 0

From the following list, identify the indicators of commitment areas of teachers and learners.
Select from the code to give your answer.

a) ‘Do it well” approach
b) Developing contact with community
¢) Enhancing performance in classroom including teaching-learning processes

(d) Concern for the allround development and readiness to help
(e) Acquiring curricular and content competency

f)  Respecting impartiality, objectivity and intellectual honesty

Options:

(a), (b) and (c)

H1334557E13.

(b), (c) and (d)

2915334257614,

(a), (d) and (f)

B912334557615.

(d), (e) and (f)

91334557616,
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Correct Marks: 2 Wrong Marks: 0

In which of the following methods of research the independent variable has to be selected
rather than manipulated ?

Options:

Descriptive survey method
91394357617, :

Experimental method
91394357618,

Ex post facto method
91394357619,

Exegetic research
91394357620.

Question Number : 5 Question Id : 91394314665 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Question Number : 6 Question Id : 91394314666 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In the list of statements given below which of them offer a suitable definition of research ?
Give your answer by selecting from the code.

a) Research means a repeated search.

b) Research is basically an answer to a question.

d) Research is an endeavour to prove one’s hypothesis.

(c) Research provides an authentic solution to a problem.
(e) Research is a meaning - giving process.

f)  Research means drawing a sample from a defined population.

Code :
Options:
91394357621, (a), (b) and (c)
91394357622, (b), (c) and ()
91394357623, (a), (d) and (f)
91394357624, (b), (¢) and (e)
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(@), (b) ¥R (c)

91334557621,

(b), () S (f)

21594257622,

(a), (d) TR ()

91334557623,

(b), () 3R (e)

91334557624,

Question Number : 7 Question Id : 91394314667 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Ability to see and size up the situation creatively is most relevant at which stage of
research ?
Options:

stage of i ifying ining a researc »blem.
a15aqzsreps AL the stage of identifying and defining a research problem

a1za43s760s 1D determining the research design and its execution.

In formulating research hypotheses and procedures for testing them.
91394357627, J

In deciding and identifying the sampling procedures to ensure their representative

sissdss7eeg Character.

Question Number : 7 Question Id : 91394314667 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
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Correct Marks: 2 WrongMarks: 0
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

‘Research ethics’ is of critical importance in which of the following areas ? Select your answer
from the code given below :

a) Data collecting

b) Preparing a seminar paper

(c) Data analysis
(d) Participation in a conference
(e)  Writing a thesis/dissertation

f) Selecting a research problem

Options:

(a), (b) and (c)

91334557629,

(a), (c) and (e)

2915334257630,

(d), (e) and (f)

91334557631,

(a), (b) and (f)

91334557632,

Question Number : 8 Question Id : 91394314668 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(a), (b) 3R ()

91334557629,

(@), (c) ¥R (e)

91334557630,

(d), (e) 3R (f)

B91334557631.

(a), (b) SR ()

H1334557632.

Question Number : 9 Question Id : 91394314669 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

While presenting the research outcomes and sharing the same with others, in which of the
following research type, the style has to be impersonal ?
Options:

Ethnographic studies
91394357633,

-t10 o % has g les
A Action research based studies

Causal comparative based Ex post facto studies
91394357635,

Narrative studies
91394357636,

Question Number : 9 Question Id : 91394314669 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

Jord gider =g |
2153942576535,
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2133942576356
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Correct Marks: 2 Wrong Marks: 0

Which of the following methods of teaching will encourage indirect learning ?
Options:
oiagansres, LECtUring with examples

T'eam teaching
91394357638,

Demonstration on a subje::t
91394357639

Collaborative projects
91394357640,
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Sub-Section 1d: 913943748
Question Shuffling Allowed : Yes

Question Id : 91394314671 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (11to 15)
Cuestion Label © Comprehension

Read the passage carefully and answer question numbers from 11 to 15.

In noting the nature of human lives, we have reason to be interested not only in the various
things we succeed in doing, but also in the freedoms that we actually have to choose between
different kinds of lives. The freedom to choose our lives can make a significant contribution to our
well-being, but going beyond the perspective of well-being, the freedom itself may be seen as
important. Being able to reason and choose is a significant aspect of human life. In fact, we are
under no obligation to seek only our own well-being. It is for us to decide what we have good
reason to pursue. We need not have to be a great leader to recognise that we can have aims or
priorities that differ from the single-minded pursuit of our own well-being only. The freedoms and
capabilities we enjoy can also be valuable to us. It is ultimately for us to decide how to use the
freedom we have. It is important to emphasise that if social realisations are assessed in terms of
capabilities that people actually have, rather than in terms of their utilities or happiness. First,
human lives are then seen inclusively, taking note of the substantive freedoms that people enjoy,
rather than ignoring everything other than pleasures or utilities they end up having. There is also
a second significant aspect of freedom : it makes us accountable for what we do. Freedom to
choose gives us the opportunity to decide what we should do, but with that opportunity comes the
responsibility for what we do - to the extent that they are chosen actions. Since a capability is the
power to do something, the accountability that emanates from that ability - that power - is a part
of the capability perspective, and this can make room for demands of duty - what can be broadly
called deontological demands. There is an overlap here between agency-centred concerns and the
implications of a capability based approach. The perspective of social realisations will take us to
further issues central to the analysis of justice in the world.

Sub questions

Question Number : 11 Question Id : 91394314672 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Why freedom is seen as important ?

Options:

To succeed in doing things.
91394357641, :

To have different life styles.
91394357642. -

To understand the perspective of one’s well-being.
91394357643.

To go beyond the perspective of one’s own well-being.
91394357644. .

Question Number : 12 Question Id : 91394314673 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Wh}f should we go beycsnd considerations of our own we[[-bemg ?
Options:

T'o follow in the footsteps of great leaders.
91394357645, 3

To think of freedoms of others.
91394357646,

To appreciate that our aims can differ from self-interest.
91394357647,

To be able to enjoy our freedomes.
91394357648, ‘

Question Number : 13 Question Id : 91394314674 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

What is of no value for assessing social realisations ?
Options:
NP, Capabilities of people

91334557650, Utilities

e -
o1504zs7es;  INADIlLY to use the freedom given

lgnoring the values of freedom
91394357652,

Question Number : 14 Question Id : 91394314675 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
What is the inherent aspect of freedom ?

Options:

i [T .
5 : 50 )
91394357653, Pleasures of freedom

91394357654 Absence of actions

Accountability
91394357655, :

Well-being of the self
91394357656



Question Number : 15 Question Id : 91394314676 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
The central idea of the passage is :

Options:

Emphasis on variety of personal issues
91394357657, :

Use of power for freedom
91394357658,

Responsibility for individual happiness
91394357659, ‘

Need for securing justice to all
91394357660,

Question Id : 91394314671 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (11 to 15)
Cesticn Label | Comprehiension
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Correct Marks: 2 WrongMarks: 0
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Sub-Section Number: 3
Sub-Section Id: 913943749
Question Shuffling Allowed : Yes

Question Number : 16 Question Id : 91394314677 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
When students place themselves close to certain communication sources, it will lead to :
Options:

91394357661 Source domination



Selective exposure
91394357662,

Negative choices
91394357663,

Impersonal behaviour
91394357664,

Question Number : 16 Question Id : 91394314677 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Question Number : 17 Question Id : 91394314678 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Assertion (A) : Classroom communication involves the clear decoding of messages by the

students.

Reason (R) : By increasing redundancy, we can improve the fidelity of communication.
Code :
Options:

Both (A) and (R) are true.
91394535 766S.

Both (A) and (R) are true, but (R) is not the correct explanation of (A).

91394357666,
a139435766- (A) s true, but (R) is false.

(A) is false, but (R) is true.
21539425 7BEE.
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Question Number : 18 Question Id : 91394314679 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Fleeting changes that occur in facial expressions of teachers in a classroom are described as :
Options:

Significant - momentary movements
91394357669 :

Informational - momentar vV movements
B91334357670. #

Macro - momentary movements
B1334557671. B

Micro - momentary movements
91394357672, 4

Question Number : 18 Question Id : 91394314679 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Fen H et &1 gEntd gr i M sAfvsafad | 29 9o eiftre ufieda Fea €

Options:

el - freh =

B12334557669,

YEATHS — &i0reh e

91334557670,



Ieq - &freh el

91334557671,

e — &fforeh Heeld

21594257672,

Question Number : 19 Question Id : 91394314680 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Identify the correct sequence of decoding process of communication in the classroom.
Options:

-I1 i - T 3 0, n; T i} : -).- =1
SR Evaluation, Interpretation, Sensory involvement, Feedback

Feedback, Sensory involvement, Interpretation, Evaluation
91394357674, :

Sensory involvement, Interpretation, Evaluation, Feedback
91394357675, Ty | r pretation, bBvaluation, ¢

Interpretation, Evaluation, Feedback, Sensory involvement
91394357676, .

Question Number : 19 Question Id : 91394314680 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
HEITd HYYUT ki Uikl o Wel fodehdd 3TIshH i UM it |

Options:

91394357673 *-ctgﬂtl'chq? Fﬁé“"‘h %F'ﬁq—{'ir*ﬂ*ﬁi, Qﬁl'gf@

qfaqfte, sf=a-af=+, fee=m, g
913945357674

Srssstosey RIS NIRRT, (NG, SIONIERT, iyt

o=, goie, wfagfte, sfEa-af-e

B1394557E7E

Question Number : 20 Question Id : 91394314681 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match the following :

Given below are two sets. Set - I embodies the types of communication while Set - I provides
their exemplification. Select your answer from the code given :

Set-1 Set - 11
(Types of Communication) (Exemplification)
(a) Linear communication ()  Members are given themes on which they are

required to hold discussion.

(b) Interactive communication (i) A teacher in the classroom presents a
structured content

(c) Transactional communication  (iii) The principal of a college holds the staff
meeting for understanding their problems.

(iv) The teacher and students in a college go on
rampage
Code :
@ (b) ()

Options:

B1334557677. (lﬂ) (1) (LI'.)

91394357678, (iv) (i) (i)

(i) (i) ()

B1334557679.

©  (v) (i)

B912334557680.

Question Number : 20 Question Id : 91394314681 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
= < 9= fou T ¥ wg=E - 1 H 99 % YR fou U ¥ saie wyea - 10 H 3T
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(c) Teranfafasrrd Hhuo (i) U HElfe=ed W= S0 A s g

THH T STh] 93 AT ¢ |
(iv) werfaamera | ferer wd faemed F&m "= 2



Options:

91394357677, (HI) (1} (IJ'.)
91394357678, (IV) (I_l) (LLI‘.)

91334557675, (I_I'.) [:I_Ll) (1}

91334557680,

Question Number : 21 Question Id : 91394314682 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
In the sequence of numbers 5, 19, 49, 101, 181, 295, «x, ......, the term x is :
Options:

91334557681, 401

sl =t
-
1594357652, o1

1A4C
B1334557683. 449

91334557654, 501

Question Number : 21 Question Id : 91394314682 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
HE& ATHA 5, 19, 49, 101, 181, 295, v, ..., H T 1 T :
Options:

91334557681, 401

L |
1

sz
91394357682, 21

B13345576853

91394357654 U1

Question Number : 22 Question Id : 91394314683 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



If NTA14 and NTA15 are 5-digit numbers such that their sum is 157229, then N+T+A would
be :

Options:

15
91394357685,

B1334557686.
1334557687,
91334557688,

Question Number : 22 Question Id : 91394314683 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

afg NTA14 a9 NTA15, 5-37hi arell THT H@ae § foe 9m 157229 &1, a1 N+T+A &1 0F
B :

Options:

Q129435 7FERE. 15

21
9194357686, T

25
91394357687 <

B133455768E. /2

Question Number : 23 Question Id : 91394314684 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
A’s mother is sister of B and daughter of C. D is daughter of B and sister of E. How is C
related to E ?
Options:

e oW . -I = r
91394257589, blhtt‘r s [ﬂ“

B1334557630, Aunt

= ]
91594357691 Grandmother

10
913345576392, Mother



Question Number : 23 Question Id : 91394314684 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

AR AAMBH TEAARCH TSI DART BRI I AUME Hisgd ¢l C H E H Ty fwar €72
Options:

qrefi

B12334557689.

=l

91334557630,

Blill

9133453576391,

91334557652, 10

Question Number : 24 Question Id : 91394314685 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

You have recently joined a new office. Walking at 5 km/hour, you reach the office from
vour house 15 minutes early and walking at 3 km/hour, you are late by 9 minutes. The
distance between your house and office is :

Options:

5 km
91394357693,

8 km
91394357694,

3 km
91394357695,

2 km
91394357696,

Question Number : 24 Question Id : 91394314685 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

A9 B B H fRdt 79w § 9evR uev R ¥ S99 o9 R F 5 et/ Ha & 9 |
TaAd 2 d1 379 15 72 Teet FEed g9 9d € AR afg 39 3 fRel /s &1 9 9 Jed € 1 A
9 fife X 9 FEied UEad € | HA9H X Y FEed & g4 ¢

Options:
5 TordT

91334557633,

8 Tl

B13345576594.



91394357695, 3 ‘Fm'_l:ﬁ
2 forHt

91334557656,

Question Number : 25 Question Id : 91394314686 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Choose the correct alternative to replace the question mark (?).

42 — 26
/1 —= 78
33 — 16
62 — ?
Options:
68
91394357697,
o4
91394357698,
38
13942357699,
39
1394257700,

Question Number : 25 Question Id : 91394314686 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

99 98 (?) o ¥UH W &l faehed =1 AU |

42 — 26
71 —- 78
33 — 16
62 — ?

Options:

913345576397, 68

91334557658, o4

38
91394357699,



39
91394357700 -

Question Number : 26 Question Id : 91394314687 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
A cluster of propositions with a structure that exhibits some inference is called :
Options:

An implication
91394357701,

An argument
91394357702.

An explanation
91394357703,

A description
91394357704,

Question Number : 26 Question Id : 91394314687 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
T ufaafa =3 fSae! 9= $3 1 9H 9 8, 39 el 91 ©

Options:

 Fafed

21394257701

r
91334557702,

B1334557703. IRC2

IEELY|

91334357704,

Question Number : 27 Question Id : 91394314688 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Given below are two premises. Four conclusions are drawn from them (taking singly or
together). Select the code that states the validly drawn conclusions.

Premises : (i) Some flowers are red.
(if)  All roses are flowers.
Conclusions : (a) Some roses are red.
(b) Some red things are flowers.
(c) Some flowers are roses.
(d) All roses are red.
Code :
Options:
(a), (b) and (c) only
91394357705 ]
D )] !
01594357706, (a) and (b) only
(b) and (c) only
91394357707, ]
(c) and (d) only
Q13942577 08. =

Question Number : 27 Question Id : 91394314688 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

19 1 R e fow U ¥ 3T R gl 9 9R freRd feel ™ ¥ 39 Fe o= RS
YT TR &9 H TRl T3 (STYR S Sl 37ehel A9 WY ®9 9 oid gu) ek / frshui =61 gwiian
gl

FUL A : () PP FA A A €
(i)  ET e e B €
rreere (2) F T T A E
(b) = el L Foed el € |
(©) TS T Tl B B |
(d) |l eI =t 2 € )
e :
Options:
91394357705, aﬁa (El), (b) E'Fﬁ-{ (C)

FIA (a) 3R (b)

91334557706,



Fgd (b) 3R ()

91334557707,

FFA (c) 3R (d)

91334557708,

Question Number : 28 Question Id : 91394314689 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Consider the statements (a), (b), (c) and (d) given below. Which one of the codes contains
the correct statements only ?

(a) Venn diagram is a clear method of notation.

(b) To diagram a standard form of a categorical proposition, three overlapping circles are
drawn.

(c) To test a categorical syllogism, two overlapping circles are drawn.
(d) Venn diagram is a method of testing the validity of categorical syllogisms.
Code :

Options:

91394357709, (a) and (b) only
91394357710, (a), (b) and (c) only
91394357711 (a), (b), (c) and (d)
91394357712, (a) and (d) only

Question Number : 28 Question Id : 91394314689 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

= =) FeHl (a), (b), (0) 3R (d) W o= Fifsm | Fafafaa § 4 fF9 $2 4 Faa q@& s
oI 72

(a) I ANE Hohad &1 TR I5fd B

(b) et freaifas sarae % 9 €9 H A o oF sifaer 99 T 9 21
(c) Toreht Fer = & odtermn & 1 SAfaeareH 99 g S © |

(d) =7 =@ fordt e =amE 1 WHIoehdl o 949870 &1 U 960d ¢ |

<

Options:

FIA (a) 3R (b)

B13345577038,



FAA (a), (b) 3R (0)

91334557710,

(a), (b), () 3R (d)

91334357711,

FAd (a) 3R (d)

91334557712,

Question Number : 29 Question Id : 91394314690 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

If the proposition ‘No dog is quadruped’ is false which one among the following propositions
can be claimed certainly to be true ?

Options:

All dogs are quadruped.
91394357713,

Some dogs are quadruped.
91394357714,

Some dugﬁ are not Llllé'ld['llpt‘d.
91394357715,

All dogs are biped.
91394357716,

Question Number : 29 Question Id : 91394314690 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

i 9% Uidara o ‘#iF a7 Fi9r 781 ¢ e 8 a1 (74 8 | g ufaafa & Fived 9 9 98 21
1 g1 T T Hahar €2

| Quff S = € |

91334557713,

FS Fd AT E |

91334557714,

D Fd TR A E |

B91334557715.

qoff Fd fgue 21

B1334557716.

Question Number : 30 Question Id : 91394314691 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



A deductive argument is invalid if :
Options:

150435771, 115 premises and conclusions are all true

Its premises and conclusions are all false.
91394357718,

a1z04357710 118 Premises are all true but its conclusion is false.

[ts premises are all false but its conclusion is true.
91394357720,

Question Number : 30 Question Id : 91394314691 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
fTHATeH: % STYTHITE © 4979

Options:

| STk YR 1 e Ry wul e e

81384557717

1594357715 S STER 9 Ud TRY |4l 7ed & |

- 3T [T SR A1 HEl 81 R 3HR R TTerd

91394357719

3Tk G SR A TTeId B 9] 39 et Tel 2l

91334557720

Sub-Section Number: 4
Sub-Section Id: 913943750
Question Shuffling Allowed : Yes

Question Id : 91394314692 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (31 to 35)
Juestion Label - Comprehension



The following table shows the percentage of marks (%) obtained by five students A-E in six
subjects 51-56. Maximum marks in all the six subjects 51-56 are 80, 75, 100, 120, 125 and
150 respectively. In accordance with the table given below, answer the questions that follow
(Questions 31 - 35) :

Percentage of marks (%) obtained by five students in six subjects

JUeCt g 2 S3 S4 S5 S6
— >
Student (Out of 80 |(Out of 75 [(Out of 100[(Out of 120 |(Out of 125 |(Out of 150
L marks) marks) marks) marks) marks) marks)
A 80 i) 76 80 50 65
B 60 70 88 90 65 72
£ 45 65 44 72 72 82
D 50 75 72 84 64 70
E 65 45 68 60 80 66

Sub questions

Question Number : 31 Question Id : 91394314693 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The approximate average percentage of marks obtained by student A comes out to be :

Options:

65 %
91394357721,

74 %
21394357722,
91394357723,

70 %
91394357724,

Question Number : 32 Question Id : 91394314694 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
The difference in the total marks obtained by student A in the subjects S3 and $4 taken
together and student E in the subjects S3 and 54 taken together, is :
Options:
"

30
91394357725,



91394357726,

91334557727,

32

213394257728,

Question Number : 33 Question Id : 91394314695 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The average percentage of marks obtained by all the five students together in subject 56, is :

Options:

71%
21394357729,

69 %
21394257730,

64 %
915394357731,

75 %
A1594357 732,

Question Number : 34 Question Id : 91394314696 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The average of marks obtained by all the five students together in subject $1, is :

Options:

48
91394357733

50
91394357734

49
91394357735.

31
91394357736.

Question Number : 35 Question Id : 91394314697 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The difference in the marks obtained by all the five students together in the subjects S3 and
51,15

Options:



48

91334357737,

98
91394357738

108
91394357739

110
91394357740,

Question Id : 91394314692 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (31to 35)
Cuestion Label © Comprehension

frefafad aifere § ure faanfedi A - E & 38 f99di S1 - Se § Uraiss & 9iaerd &1 g9y 791 8 | 9
fawdi 51 - Se # afararan e &AW 80, 75, 100, 120, 125 91 150 €1 = €F T arfeta & TR
= &8 7 9wl (31 - 35) w1 S SIS

o faenferi g = fawat # wra it =1 wfava (%)
T 51 ) 53 S4 S5 S6
—»

foremeft (F80 |(pa75 |(Fw100 |[(Fe120 |(m@125 |(Fer150
\ sEid) ) [@Faa) [dwAa) |wwaa) |@wid)

A 30 72 76 80 50 65

B 60 70 88 90 65 72

C 45 65 44 72 72 82

D 50 75 72 84 64 70

65 45 68 60 30 66

Sub questions

Question Number : 31 Question Id : 91394314693 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Torzmelt A 11 YIS 37eRi 1 39d YA & o4

Options:

= [:!'.-"
91394357721 0270

A QF
a1394357722. /4%



= L)
91394357703, /D /0

91334557724,

Question Number : 32 Question Id : 91394314694 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
faeneff A =1 fawar 3 a1 S4 H et Wraieh 3R faenefi £ &1 faw $3 a91 S4 H et raieh 1 3id
g

Options:

91394357725, OU
36
91394357726, -

B1334357727. 28

r._,l]
I~

B1334557728.

Question Number : 33 Question Id : 91394314695 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
fawa Se § Qi ure faenfu=i gro ura f6a T3 siahi =1 3ia wfaed € -
Options:

s
91394357729, 71%

Q o/
91394357730, 69%

; EEI.-"
91394357731, 64 7%

913345357732,

Question Number : 34 Question Id : 91394314696 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
faw S1 | |efi dr=i foenferi g/ ura o3 7 il a1 o9 €
Options:

B1334557733. 438

.
91394357734 2V



91334557735, 49

e
91394357736 2 1

Question Number : 35 Question Id : 91394314697 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
o S3 Qe S1 § Qi ur=i foanfi=i g/ ura fohd T 3iei &1 SR € :

Options:

B1334557737. 48
913343577358, 98

2153942577359, 108

212334557740, 110

Sub-Section Number: 5
Sub-Section Id: 913943751
Question Shuffling Allowed : Yes

Question Number : 36 Question Id : 91394314698 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which one of the following pairs least matches in respect of Computers ?

::;5??41_ 1 Gigabyte 1 (1024) x (1024) X (1024) Bytes
91394357742, LCD : Light Crystal Display
91394357743, USB : Universal Serial Bus
1594557744 GUI : Graphical User Interface

Question Number : 36 Question Id : 91394314698 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

frefafEd § 9§ 91 I8 PG & G99 § 37eqqq &9 § Hel G § 2




Options:

91394357741 1 ‘5|‘II5H$E : (1[]24) X(11J24)X(1[124) EIECRS
91394357742, T 412l : ize Tshide] Ts{%
91394357743, ?1\133‘3[:‘9?[ : qitdset Alitdet o

91334557744

Question Number : 37 Question Id : 91394314699 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Amit has decided to use either a DVD-RW or DVD-R. Select statements that are TRUE for
these storage devices.

P: Both DVD - R and DVD - RW are read only.

Q: DVD - R can be written to only once.

R: DVD - RW can be written to many times.

S: Both DVD - R and DVD - RW can be written to only once.

Options:

P only
91394357745, :

B y
91334557746, S« 11[}

P and R onlv
91394357747, 2

Q and R only
91394357748, ?

Question Number : 37 Question Id : 91394314699 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:



e Ul

91334557745

_W@.

912334557746

_mﬁﬁ.ﬁr{m

215394257747

91334557748

Question Number : 38 Question Id : 91394314700 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
The following list indicates different types of computer networks. Arrange them in an
ascending order on the basis of geographical space implied.

Options:

91394357740 LAN, WAN, MAN

1394357750, VVAN, LAN, MAN

MAN, LAN, WAN
91394357751

LAN, MAN, WAN
91394357752,

Question Number : 38 Question Id : 91394314700 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
frefafad g=i § Feze q2aad o fafa= Rl 1 9 ™1 €| 3¢ siafiied sl hehe T19 &
YR W AR A H Faferd sifau |

Options:

- UG, e LU, TH.T A

21394257749

- S LA, Tl G, THEEA.

91334557750

THUUA, TATA, ST T

21394257751

AL, TR, S i

91334557752



Question Number : 39 Question Id : 91394314701 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Computer peripherals are external devices connected to a computer. Which list contains
input peripheral devices ONLY ?

Options:

Speakers, Scanners, Mouse, Modem
91394357753

g .] — ~= - i I' 5 -
DO ) )] doue c
91394357754 Keyboard, Projector, Mouse, Flash drive

licrophones, Track-b use, Sc Touch sc
01594357755 Microphones, Track-ball mouse, Scanner, Touch screen

Laser printer, Graphic tablet, Barcode reader, Hard disk
91394357756,

Question Number : 39 Question Id : 91394314701 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
FII e P H S 96l ST 2id ¢ | fhd g1 § Fad 3192 Jwew feu e €7

Options:

~ ¢ o5 r »
91394357753 TUNH, tehY, Hlod, HisH

91334557754

OEshIHId, coh-dic OI3H, ThHL, 29 Shid
Q9] 2942E7FEE.

| SR 9=, UIfther 2oeie, 9 &g U=y, gl fe&h

91334557756

Question Number : 40 Question Id : 91394314702 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Read the following spreadsheet (MS-EXCEL) :
EXCEL Spreadsheet

A B C

10 | 16
20
8
12
5 0

e o B L

The equation in cell B2 is = A2+ BI.

This equation is then copied and pasted to cells B3, B4 and B5. What should be the value in
B5 ?

Options:

B1334557757.

91334557758,

91334557759,

91334357760,

Question Number : 40 Question Id : 91394314702 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
frmfafad Tevie (TH.0E. -Tsd) &l 9feu :
T WEie

A B B

10 | 16
20
8
12
0
T B2 § FHIE § = A2+ Bl.

THF S1E HHIHIOT &1 hI9T fHIT ST & 371 B3, B4 31 B5 § U2 &2 fad1 a1 €1 B5 1§ =41 21
=ifed ?

Options:

Ul =] || —

36
91384357757, -



91334357758, 24
B1334557759.

21334557760,

Question Number : 41 Question Id : 91394314703 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The tsunami that occurred in south and south-east Asia in December, 2004 was caused due
to :
Options:

An earthquake
91394357761,

A volcanic erupti(m
91394357762,

A hurricane
91394357763,

A tropical cyclone
91394357764, :

Question Number : 41 Question Id : 91394314703 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
fedaR, 2004 | <feqor a1 Sfeo-ga TR § SHA1E GAHT 1 SR o

Options:

91334557761, 1{

2153394257762, E bl

REEE (B R)

91334557763

- SUTH{HHR TEME

B1384557764

Question Number : 42 Question Id : 91394314704 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following gases initiates a chain reaction that breaks-down ozone in the upper
atmosphere ?



Options:

Nitrogen dioxide
91394357765,

Carbon dioxide
91394357766,

Hydrogen sulphide
91394357767, - !

Chlorine
91394357768,

Question Number : 42 Question Id : 91394314704 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
S FgHed | fefatad § | sE- 776 30 Sa@fed Jaisan &1 SRy R ¢ o9y s 22l
872

Options:
91394357765 NR&OIM SleAladlzs
91394357765, T Sledtlalzs
b
91394357767 ClRRIET Mthles

215394257 7EE. Al I

Question Number : 43 Question Id : 91394314705 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

High level lead (Pb) exposures in humans through inhalations or food consumption may
cause :

(a) Mental retardation

(b) High blood pressure

(c) Disorder of central nervous system

Select the correct answer from the code given below :

Options:
91394357769, (a) and (b) only
91394357770, (b) and (c) only

91394357771 (¢) and (a) only



(a), (b) and (c)

B1334357772.

Question Number : 43 Question Id : 91394314705 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

S YagA 31aT e % WEAg | Wi 91 H il (Ph) % 99 | @A Y 91 2 2
(a) WM HeA

(b) T=F {& =M

(c) e TG 9 | fasr

fr=fafaa § 9 w8 $2 1 999 F W AT

Options:

I (a) AT (b)

91334557769,

Fad (b) 7T ()

B1334557770.

e (c) q9T (a)

2913394257771,

(), (b) T (c)

91334557772,

Question Number : 44 Question Id : 91394314706 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
In a human population, which is undergoing the demographic transition, which of the

followineg ¢enerally decreases first ?
5 N ] o

Options:

Life expectancy
91394357773, . '

Level of education
91394357774,

Death rate
91394357775,

Birth rate
91394357776,

Question Number : 44 Question Id : 91394314706 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



qHa SEE g sHifwsE 9itad 8 @1 8, ama: fFreafatea § 3 fFad 999 ted g ean e ?

Options:

_Eﬁaﬁuﬁ‘:rrsm

21394257773

B1334557774. ﬁﬂ&:n IR

91334557775, i g <

215334257776, ! <l

Question Number : 45 Question Id : 91394314707 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Assertion (A) : The ecosystem surrounding a river gets damaged due to construction of a
dam.

Reason (R) : The area gets inundated with large volume of water.
Choose the correct code :
Options:

Both (A) and (R) are correct and (R) is the correct explanation of (A).
91394357777,

a1304557775 DOth (A) and (R) are correct, but (R) is not the correct explanation of (A).

s1394357779 (A) 1S true and (R) is false.

BT (A) is false and (R) is true.

Question Number : 45 Question Id : 91394314707 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

ATURAT (A) :  ToHEl &1 & 3-8 &1 WIRFTAehT 931 Sal die 579 9 &faird arai ¢ |
THIT (R) : foroel eIty § 9% & <4 Sl ¢ |
| Fe I -

Options:

(A) 3R (R) THI W&l € 3R (R), (A) F & A T |

1334357777,

(A) 3R (R) 2F T&l €, T (R), (A) FT el =11 T8 € |

91334557778,



(A) T € 3R (R) 7ToTd 2|

913345357779,

(A) T4 € 3R (R) Hl © 1

91334557780,

Question Number : 46 Question Id : 91394314708 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which one of the following has larger scope for the possibility of hands on experience ?
Options:

Seminar
91394357781,

a1za43s77gs  CONference

Workshop

2133942577835,

Symposium
91394357784,

Question Number : 46 Question Id : 91394314708 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
AR TohasT= 31 9d & ford Way Ay ey fgH 22

Options:

B1334557781. 3 " 5'
B1334557782. 3 A

HTIIMA

91334357753,

RIEEsCI

91334557754,

Question Number : 47 Question Id : 91394314709 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Which one of the following is less oriented towards knowledge dissemination ?
Options:

91394357785, Seminar



Classroom

91394357786.
'l T -

01394357787, Lield work

1394357755 Journal

Question Number : 47 Question Id : 91394314709 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
I R & Uid ffafad 4 9 f6ad &0 g €2

Options:

RIS

B13345577EE.

B1334557756. Sb

E-EEaC

913345577857

913345357758, RlER] ( N )

Question Number : 48 Question Id : 91394314710 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which of the following body is empowered with the role of appointment and approval of
teachers in a University System in India ?

Options:

Board of Management/Executive Council/Syndicate
91394357789, )

1394357790, LACademic Council

Board of Studies
91394357791,

University Court/Senate
91394357792, S

Question Number : 48 Question Id : 91394314710 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
ad ¥ favafaame™ usfa § el &1 fgfaa 9o s/ & fad fafafaa 4 9 faa fem =
SR yed T T 77



Options:

- - my ot e hat) ¢ ry
s1m045e775  TOY Hed (SIS HAH HISHE ) /SR qig /fafese

91334357730, ;\
RICCRS I

91334557791

 Tovataare™ %/ dre

B13845577392

Question Number : 49 Question Id : 91394314711 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which of the following is entrusted with the responsibility for coordination and quality of
higher education in India ?

Options:

NO— Bar Council of India

SRS Association of Indian Universities

University Grants Commission
91394357795, :

91394357796 NITT Ayog

Question Number : 49 Question Id : 91394314711 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

yd o 3= e & 9u=g a9 Tureen & foer fed | e g2

 HRAH Taie REg

213394257755

91394357794, T favafaaneTd 99

2133942577395, EASIEEINE 3'{:1“:]'1 mﬂ

HIfd 3R

913345577396,

Question Number : 50 Question Id : 91394314712 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
Who is the administrative and academic head of Indian University System ?
Options:

Chancellor of a University
91394357797. 2

F& . e = . . O o .
1304357705 Y 1ce-chancellor of a University

Registrar of a University
91394357799, .

Dean of studies in a University
91394357300, /

Question Number : 50 Question Id : 91394314712 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

TR favafaenera Qe & Jemee 991 Aefors 37159 hiF 211 © 7

Options:
farvafe=me™ 1 FarfHafd
91394357797,
[ - —
91394357795, [ARATI=TAT T Hedqld
| i [ i =
[FATFEAT bl heTdl=d
91394257799,
™= r~ o
EEEIE B % Hehld A=Y
21394257300,
Faper I1
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Question Number : 51 Question Id : 91394314713 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following Mesolithic sites have exposed burials with skeltons of very tall
height ?

(i) Adamgarh
(i) Bhimbetka
(11} Mahadaha

(iv) Sarai Nahar Rai
Choose the correct answer from the code given below :

Code:

Options:

(1) and (ii)
91294357501,

(1) and (iii)
Q1394257 802.

(1) and (i)
91294357502,

(iii) and (iv)
Q1394257504

Question Number : 51 Question Id : 91394314713 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Freafeafiaa 4 @ fr gemmfins wuet @ sredt @ o e sifergst @ ga e Fea § 2
(1) HIGHTE

(i) e

(i)  ergeEl

(iv) HUF T8
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Options:

(1) T4 (ii)
91394357801, h

(1) 74 (iii)
91394357802, =

(ii) U (iii)
Q1394257803 Y

(iii) TF (iv)
91394357204, mq

Question Number : 52 Question Id : 91394314714 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following Harappan sites yielded camel bones ?
Options:
Kalibangan
91334557805,

Harappa
91394257806, PP

91334557807, Lothal

Mohenjodaro
913245357808,

Question Number : 52 Question Id : 91394314714 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Freafafiga 7 & fea gevdia e @ S 6 fet fref & 2

Options:

B91334557805.

91334557806,

91334357807,

ArEFGs!

215394257808,

Question Number : 53 Question Id : 91394314715 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The location of the vedic river Sarasvati is indicated by its mention in the Nadistuti-Sukta
of the Rigveda between
Options:

Ganga and Yamuna
91394357809,

91394357510, Yamuna and Sutudri

91394357811, Sutudriand Asikni

91394357810 Asikniand Vitasta

Question Number : 53 Question Id : 91394314715 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Fg  Terefd-go 4 f6 3 afeEt & e Aftw 78 grdt B fEfa WA g g o
Options:

T TE AT
91394357809,

el v
Q1594257 E10.

wafs wE sfaat
91394357511

wfet v feaae
91394357812

Question Number : 54 Question Id : 91394314716 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The account of the Great Flood in which a divine Fish has been described as rescuing Manu
oceurs in

Options:
Rigveda
291394357813,

Vajasaneyi Samhita
91394357514,

Satapatha Brahmana
91394357515,

Aitareya Brahmana
91334357816,



Question Number : 54 Question Id : 91394314716 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
qere were i Fur forad 2t nee gro ag A wn w0 @ faaon 2, e Ty sueea @ 0

Options:

B91334557813.

areaft wfEan
91394357814,

A9y AT
91334557815,

U s

215394257816

Question Number : 55 Question Id : 91394314717 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Itihasa-Purana has been mentioned as the Fifth Veda in
Options:

Aitareya Upanishad
91394357517,

Brihadaranyaka Upanishad
91334357818,

Chhandogya Upanizhad
215394257819,

Svetasvatara Upanishad
91394357520.

Question Number : 55 Question Id : 91394314717 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Freafeofiaa fe oy & sfogma-qoor wt e S s 8 2

Options:

e F9fag,

91334557817,

91334557815,

s e

913345578145,



FadTTEd g

91334557820,

Question Number : 56 Question Id : 91394314718 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Which Upanishad describes the philosophical dialogue between Yajnavalkya and Maitreyi ?

Options:
Brihadaranyaka
91394357821,
91394357800, Svetasvatara
Chhandogya
91394357523,
91394357524, Loausitakd

Question Number : 56 Question Id : 91394314718 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Aryaed v At 1 g g fen gufeg 4 affa 8 2

Options:

91334357521,
91394357522, TR
91334357523, oI
91394357524, P

Question Number : 57 Question Id : 91394314719 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Given below are two statements, one is labelled as Assertion (A) and the other is labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Asgsertion (A) : Gautama Buddha believed in rebirth.
Reason (R) : He did not accept the existence of permanent soul.

Code :

Options:



Both (A) and (R) are true and (R) is the correct explanation of (A).
91394357825,

Both (A) and (R) are true, but (R) is not the correct explanation of (A).
Q1594357 E2E.

(A) is true, but (R) is false.
B1334557827.

(A) is falze, but (R) is true.
Q1294357328

Question Number : 57 Question Id : 91394314719 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

(A) #(R) 9T (R), (A) 1 Tt =g & |
91394357825, T @ b

(A) 3R (R) 3t vt £, 7g (R), (A) 1 Tt = T 2 |
1594357526,

(A) @& B, 9 (R) Tea 2 |
91394357827,

(A) Ted &, g (R) TR 2 |
91394357828,

Question Number : 58 Question Id : 91394314720 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In Shravasti, Makkhali Gosala usually stayed at the workshop of the lady Halahala who
belonged to the community of

Options:

91394357809, 1 OHers

Carpenters
912394257830,

91394357gzy, Ccldsmiths



91394357g3p, ronsmiths

Question Number : 58 Question Id : 91394314720 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

B12334557829.

91334557830,

91334557821,

EIEEDL

91334557832,

Question Number : 59 Question Id : 91394314721 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

‘Kathina ceremony’ of Buddhist samgha was related to

Options:

91394357833, Distribution of robes

91394357554 Distribution of food

Distribution of worship objects
91394357835,

513943578386, Distribution of medicines

Question Number : 59 Question Id : 91394314721 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
dtg o9 & ‘Ffea warty’ wwafia @
Options:

91334557833, b 8

912334557824, 8



91334557835, W Elﬂaﬁ e ®

oo @
91394357836, il

Question Number : 60 Question Id : 91394314722 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which of the following regions was ruled by two kings with a council of elders during the
time of Alexander’s invasion in India ?

Options:

91394357837, opudraka

91394357835, 1 auala

91394357839, Pt

91394357840, Saubhuti

Question Number : 60 Question Id : 91394314722 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

B1334557837.

91334557838,

B912334557829.

ahfa

91334357540,

Question Number : 61 Question Id : 91394314723 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Asoka’s contemporary, foreign king Turamaya was the ruler of
Options:

Cyrene
91394257541,



Egvpt

913943578342

Epirus
91394357843

Syria
2153942575844,

Question Number : 61 Question Id : 91394314723 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
F9Ih o1 THehrelt fagft e quva waf 1 w2

Options:

B91334557841.

B91334557842.

91334557543,

913345575844,

Question Number : 62 Question Id : 91394314724 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
A Kushan devakula, where statues of royal persons were kept, has been found at
Options:

91394357545, ‘rhichchhatra

91394357845, Chamba

91394357847, At

Shahbazgarhi
91394357548,

Question Number : 62 Question Id : 91394314724 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:



H1334557845.

H133455784E.

H1334557847.

912334557848, )

Question Number : 63 Question Id : 91394314725 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which of the following represent inland markets in the Dakshinapatha as mentioned by the
‘Periplus of the Erythraean Sea’?

Options:

Amaravati and Nagarjunakonda
913943575439,

Kalyan and Kanheri
91334357850,

91394357851, _\asikand Junnar

Pratishthan and Tagar
91334357852,

Question Number : 63 Question Id : 91394314725 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

ST Ud AR

21594257849,

Fo 10 Td Frgdt
91394357850, qq

Trfers v
91394357851, =

gferee™ wd T
91394357852,

Question Number : 64 Question Id : 91394314726 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The earliest Ajanta painting is found in

Options:

41394357853 Caves No. 1 and 2
91304357854, C2veNe-9
91394357gsg  Caves No. 16 and 17
41394357856, Cave No. 19

Question Number : 64 Question Id : 91394314726 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
areian arsat Feaehen Fel I § 2
Options:

q.179 2
91394357853, T#

4.9
91394357854, T

. 1679 17
91394357855, T=

4. 19
91394357856, T

Question Number : 65 Question Id : 91394314727 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following pairs iz not correctly matched 7
(Dakshinapatha Rulers of Early Gupta Age) — (Their Kingdoms)

Options:

Damana — Erandapalla
91394357857,

Hastivarman — Vengi
91334357858,

Mantaraja — Palakka
913245357859,

Nilaraja — Avamukta
91394357560,



Question Number : 65 Question Id : 91394314727 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Freferiaa # & wi-a1 3w wd gt T 2 2
(q# Tea wreft Zfroraer & vre) - (3% )

Options:

T — WETg
41394357857

it

21594257858,

91394357859, coa e

Hrerrs — sragad
91394357860,

Question Number : 66 Question Id : 91394314728 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

An inseription of the time of Kumaragupta mentions year 493 of the Malava era. Which of
the following is its corresponding year ?

Options:

91334557861,

91334557862, 436 A.D.

ER
91394357863, 00 AD:

.
91394357884 O LD

Question Number : 66 Question Id : 91394314728 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

FHIOTE & T & Ush i@ | "ieid Ha + 99 493 % Ig@ & | Frafafaa 3 soo aweea ad -
27

Options:

4153,

21594257861,

436 %,

H1334557862.



550 3.

H13345578E3.

571%.
91394357864,

Question Number : 67 Question Id : 91394314729 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following works gives a glimpse of an ancient Indian court ?

Options:

Malavikagnimitra
913245357865,

91394357866, rchchhakatika

91394357567, udrarakshasa

91394357865, amavall

Question Number : 67 Question Id : 91394314729 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

fr=fafiga T = 4 wim vt = 6 o o faadt 2 2
Options:

H1334557865.

qeahich

9153394257866,

b L |
91334557867,

91334557868,

Question Number : 68 Question Id : 91394314730 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Which of the following pairs of Rulers and their Titles is notf correctly matched ?

Options:

Budhagupta — Paramadaivata
913943575639,



Kumaragupta — Paramabhagavata
91394357570,

91394357571 1ravarasena Il — Parama-Mahesvara

Harsha — Parama-Saugata
91394357572,

Question Number : 68 Question Id : 91394314730 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Freaferfiaa et oftt st st & o & S-w 3w odt gofea a8 2 2

Options:

T — WHEEd
91394357869

FHE — TH-HITET
B12334557870.

YA 11 — TH-ATE7EL
91394357871,

4 — gm-Hha
91394357872

Question Number : 69 Question Id : 91394314731 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Which one of the following pairs is not correctly matched ?

Options:

Laxman Temple, Sirpur — Mahashivagupta Balarjuna
91294357573 P P sup an

Meguti Temple, Aihole — Ravikirti
913245357874,

Mallikarjuna Temple, Pattadakal — Trailokya Mahadevi
B1334557875.

Vaikuntha Perumal Temple, Kanchi — Nandivarman 11
9139435757,

Question Number : 69 Question Id : 91394314731 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Freafafiaa 4 & s gm a8 gafea a8 2 2

Options:



s wfet, Rrgt - wefiET wrere

91334557873,

ATt wfe, Yater — deehifd

9153394257874

afggerrsf fet, vgeshel — Feftea Rt

B12334557875

dgvetEATd Hiey, FE — Afganq 11

91334557876

Question Number : 70 Question Id : 91394314732 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which of the following temples of north India has a Sikhara of Dravidian type ?

Options:

Brahmesvara temple of Orissa
91394257577,

Kardamesvara temple of Varanasi
91394357878,

Parsvanatha temple of Khajuraho
91394357879,

91394357550,  reli-ka-mandir of Gwalior

Question Number : 70 Question Id : 91394314732 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

I 9T = Frefefiga w2 & frew e g et w1 2 2
Options:

I 1 e "ieet
9139435787 7.

e 1 Fenvat qfet
91394357878,

GaUrE 1 argEATy wieet
91394357879,

QeI =1 delt %1 "fet
91394357280,

Question Number : 71 Question Id : 91394314733 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The deul of which of the following Orissan temples is pancharatha ?
(i) Lingaraja

(ii) Muktesvara

(iii) Hajarani

(iv) Parasuramesvara

Choose the correct answer from the code given below :

Code :

Options:

Only (i)
919242357881,

Only (iv)
915394357582,

(iii) and (iv)
91943578055

(1), (ii) and (iii)
919242357554,

Question Number : 71 Question Id : 91394314733 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

3t % Frafofiaa af=T & fra qoa vavw 2 2

(i) femora
(i) TR
(iii) TFART
(iv) FEIEEHTE
Fr= fiw mo g2 A & Tt s i
E:
Options:
Fa (i)
91394357881
Fad (iv)
91394357882,
(iii) T (iv)
913943578283, h
{1}’ {"} = {-."}
91394357884, o

Question Number : 72 Question Id : 91394314734 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
Given below are two statements, one iz labelled as Assertion (A) and the other iz labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.
Assertion (A) : The Kalachuri king Gangeyadeva was famous as Vikramaditya.
Reason (R) : He issued gold coins of Lakshmi type.

Code :
Options:

Both (A) and (R) are true and (R) is the correct explanation of (A).
91394357885,

Both (A) and (R) are true, but (R) is not the correct explanation of (A).
21594257886,

(A) is true, but (R) is false.
Q1=294257887.

(A) is falzse, but (R) is true.
Q1594257 ERE.

Question Number : 72 Question Id : 91394314734 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Fr= 3t awren fau o &, Form & u e (A) @ 3ft g0 S (R) ® | St Wt afge ik e fa e
e &1 FE F T I g |

YT (A) : Fergit T i hi fawmfie % v § ity ot

FO (R) : 354 weft w1 % fireeh e |

He:

Options:

(A) 3 (R) q9T (R), (A) i 98t =amean & |
91394357835, i wd & e &

(A) 3 (R) g1 @t &, T (R), (A) it 9t = 76 # |
91394357886,

(A) Tt 7, (R)Ted 2 |
Q1=Z94=257FEET. m

(A) T &, Wg (R) @&t 2 |
913943578383.

Question Number : 73 Question Id : 91394314735 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Kumaradevi, a queen of Govindachandra Gahadavala, constructed a Buddhist Vihara at

Options:



Bodhgaya

91394357889,
91394357590, o ondd
91394357891, oAt
91394357892, S ot

Question Number : 73 Question Id : 91394314735 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Tifergers TaeaTa A U T FHRGH 3 U dtg g aarn

Options:

91334557859, ?

A1 §
41334357830,

91334357891, i

913345578592, i

Question Number : 74 Question Id : 91394314736 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Which of the following pairs of Founders and Capital Cities is not correctly matched ?

Options:

Amoghavarsha — Manyakheta
91394357595,

Avantivarman — Avantipura
913343575894,

Lalitaditya — Parihasapura
913345578395,

Mahendrapala — Mahodaya
91394357596,

Question Number : 74 Question Id : 91394314736 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Preiffige § & S geomet o wge T & qw o gt 7@ 22
Options:

91394357893, T — HTEe

o - s

9123345575894

Aferarfeed — afiEEE
41394357595.

| HeegaTd — Helgd

B13345578596

Question Number : 75 Question Id : 91394314737 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Match List I with List II and choose the correct answer from the code given below.
List I List IT
(Writer) (Patron King)

(a) Hemachandra (i) Ananta

(b) Jayadeva (ii) Kumarapala

(¢) Kshemendra (iii) Lakshamanasena

(d) Rajasekhara (iv) Mahendrapala

Code :
Options:
(a)—ii), (b)—(iii), (e)-(1), (d)-iv)
91394357597,
(a)—iv), (b)—(iii), (e)—(1), (d)—(ii)
91z294357598.
(a)—(iii), (b)—(ii), (e)=(1), (d)—(iv)
91394357599
{a)—iv), (h)—(1), (e)-{iii), (d)—{ii)
91294357300,

Question Number : 75 Question Id : 91394314737 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



gt 1=t gt 11 & gufaa Fifsw ot = fgu mo e 4 9 adt so+ 9w

el et 10
(vrE=) (sTTsrErETaT )
(a) BHEg (i) ==
(b) EeE (i) FHTCITE
(c) &g (iii) STETOEA
(d) TreEE (iv) TE-gaTe
w2
Options:
(a)—(ii), (b)—(iii), (e)—(i), (d)—(iv)
913943575897,
(a)—{iv), (b)—(iii), (e)—{1), (d)—(ii)
91394357898,
(a)—{iii), (b)—(ii), (e)~(i), (d)—{iv)
91394357899,
(a)—{iv), (b)—(1), (e)—(iii), (d)—(ii)
91394357300,

Question Number : 76 Question Id : 91394314738 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which one of the following pairs is not correctly matched ?
(Work) - (Author)

Options:

91594357901 Naramamala — Kshemendra

9139435790p, Ratnavali - Harsha

51394357903, Pratimanataka — Bhasa

91394357904 Malatimadhava —Bharavi

Question Number : 76 Question Id : 91394314738 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Frerfirfies § @ 9 3w o gifem 78 22
(iw) - (Frar)

Options:

AT — S

913345573901,



Tt — 8

91394357302,
91394357903, ae =i
91394357904, ° AT —

Question Number : 77 Question Id : 91394314739 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Who among the following poets called himself Kalikala-Valmiki ?
Options:
Bhavabhuti
91394357905, ovoend

91394357906, oandasa

Rajasekhara
91394357307,

Sandhyakaranandi
91334357308,

Question Number : 77 Question Id : 91394314739 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Freafafiaa fra #fa 3 orm it Sl aefifs sa 2 2

Options:

W

91334557305,

91334357306,

91334357307,

91334357308,

Question Number : 78 Question Id : 91394314740 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Who among the following is the oldest commentator of the Rigveda ?

Options:



Madhava Bhatta

91394357909,
91394357910, v and
91394357911, ©landasvami
4139435791 "enkata Madhava

Question Number : 78 Question Id : 91394314740 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Fodg, 1 Tretan wregen Feafeafas & @ # g 2

Options:

oY
B123345573903, ®

91334557910,

91334557911,

B1233455791%2.

Question Number : 79 Question Id : 91394314741 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

An inseription of 1121 A D. refers to a medical school teaching the Charaka Samhita and
Ashtanga-Hridaya of Vagbhata at

Options:

91394357913, aanda

91394357914, |ruvaduturral

91394357915, ' aiaphi

91394357916, " oranasi

Question Number : 79 Question Id : 91394314741 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



1121 %, % U sfirerE ¥ v ges faamem #1 3g@ @ 9=l 91 dfedr w@ amwe % e ged A
qqrs gt oft | =8 faemers waf @1 2

Options:

215394257915,

fereargats

91334557914,

91334557915,

B13345573916.

Question Number : 80 Question Id : 91394314742 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Who among the following rulers restored the Somanatha temple of Gujarat after its
destruction by Mahmud Khalji 7

Options:

Bhaoja
913943579317,

Jayasimha
91394357918,

91394357919, arna

Kumarapala
91394357920,

Question Number : 80 Question Id : 91394314742 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

HEHE Werdlt gRT e o Ty wieat W e e % svoea Frefafaa fea e S sow wregn
fem 2

Options:

91334557917, I

wafie

91334557918,

9133455739145, i



913343573920,

Question Number : 81 Question Id : 91394314743 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

Abhinavagupta was a famous acharya of which of the following schools ?

Options:

Pratayabhijna
91394357921,

Pasupata
91334357922,

Lingayata
91324357323,

Kapalika
91334357924,

Question Number : 81 Question Id : 91394314743 Question Type: MCQ Option Shuffling: Yes Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

sfirraea Frferfian frm wwem % wfing smard 2 2

Options:

91324357921, ser
91394357922, g
91394357923, fermrrs
91394357924, il

Question Number : 82 Question Id : 91394314744 Question Type: MCQ Option Shuffling: Yes Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

Given below are two statements, one is labelled as Assertion (A) and the other is labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : Nanadesi trading corporation claimed to have wandered in several countries.

Reason (R) : They are mentioned in a fragmentary Tamil inscription of eleventh century
from Lobu Tuwa in Sumatra.

Code :

Options:

Yes

Yes



Both (A) and (R) are true and (R) is the correct explanation of (A).
91394357925,

Both (A) and (R) are true, but (R) is not the correct explanation of (A).
Q1594357926

(A) is true, but (R) is false.
B1334557927.

(A) is false, but (R) is true.
Q1294357928

Question Number : 82 Question Id : 91394314744 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

= 31 awren fou mu &, fomd & us wue (A) R of gEm wm (R) B | awedl wht afen s = fag mo
Fe I TAM FHE I A |

FET (A) : TRt saTaTies @9 3 gran frn R o s g F e e

IV (R) : Gt H &t g1 & Wred wrgdl wAredt % s @ivsd afuer sifiera # e gw frea 21
% :

Options:

(A) #(R) 9T (R), (A) 1 Tt =g & |
91394357925, = w &

(A) 3 (R) 31 @t €, oo (R), (A) 1 ot s T R |
Q1294357926

(A) Tt B, (R) Tefd & |
91394357927, A

(A) Ted ®, 9g (R) 9&t 8 |
Q139435 7928,

Question Number : 83 Question Id : 91394314745 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Paramartha stayed in China over twenty years and translated 70 Buddhist texts into
Chinese there. He was from

Options:

91394357909 Kanchi

2153342573950, N da

91394357931 ' oranasi



Ujjain
91334357932,

Question Number : 83 Question Id : 91394314745 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

quaref <fiq 7 20 a9t & sferes @ aft awf st 70 g vt & < e F srgare e AT w A 2
Options:
913943579329, et

2153942579350,

9133453573921,

91334557932,

Question Number : 84 Question Id : 91394314746 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Which of the following pairs of Authors and their work is nof correctly matched ?
Options:

41394357933, Hasan Nizami — Tarikh-i Shahi

Minhaj-i Siraj — Tabagat-i Nasiri
B1334557924.

41394357935, Amir Khusrau — Hasht Bihishi

51394357936, Ziauddin Barani — Fafowa-i Johandari

Question Number : 84 Question Id : 91394314746 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Freafafiaa 4 & s craest it st w0 = gm odt gefea 7@ 2 2
Options:
framdft — ariiE-
291394257933, R Q et

firera-u finrs — aewra- v et
91394357934, A *



FfiT gatt — gva fafzea

91334557935,

foarada =1 — waarv F@fert
91394357936, 5

Question Number : 85 Question Id : 91394314747 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Given below are two statements, one is labelled as Assertion (A) and the other is labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : Slavery was an institution that had long existed both in south and north
India.

Reason (R) : Lekhapaddhati mentions that slaves could not be obtained by capture in
military raids or free persons could not offer themselves for slavery out of destitution.

Code :
Options:

Both (A) and (R) are true and (R) is the correct explanation of (A).
21394357937,

Both (A) and (R) are true, but (R) is not the correct explanation of (A).
9159435749358,

(A) is true, but (R) is false.
Al 2942574939,

(A) is falzse, but (R) is true.
Q1294257940

Question Number : 85 Question Id : 91394314747 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Fr= 3t aren g o &, fomd & w Fu (A) B 3R g0 w0 (R) B | St i afen i e faw
e &1 T4 F T I g |
A (A) - 38 941 Tk e oft St A wwm & <fEor oft I e g A faemm ot
FN0 (R) : eiEygla 3g@ Fdt & T g d= srfiret 4 5 s=me o aent d & 58 s o g 4, 7
£ Tas saf sTaTaTETdT % HH0 T H g % U wegd = ouwd o |
Hhe:

Options:

(A) 3 (R) 9T (R), (A) 1 T8t =grean 2 |
91394357937, = e ¢

(A) 3R (R) ST w8t ¥, g (R), (A) 1 G2t same 7 2 |
91394357938,

(A) TE B, 7 (R) Terd & |
91394357939,



(A) T &, Wg (R) @&t 2 |
91394357940.

Question Number : 86 Question Id : 91394314748 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Given below are two statements, one iz labelled az Assertion (A) and the other iz labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : The semi-divine origins of the family of Chenghiz Khan coupled with the
enormous prestige of his success and career had made his house an object of inspiration and

awe and had preserved sovereignty in his family up to the 16" century.

Reason (R) : Such was the spell of the house of Chenghiz Khan that even Timur thought it
advisable to exercise full power in the name of a descendant of Chenghiz Khan and felt
contented with the humble title of Amir or Beg.

Code :
Options:

Both (A) and (R) are true and (R) is the correct explanation of (A).
91394357941,

Both (A) and (R) are true, but (R) is not the correct explanation of (A).
Q1594357942

(A) is true, but (R) is false.
H1334557943.

(A) is false, but (R) is true.
91294357944,

Question Number : 86 Question Id : 91394314748 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

= 31 aren fou mu &, fomd & us Fue (A) R SR gET ww (R) B | awedl wht fen i = fag o
e AT F T I g |

FUT (A) : St @ % i & o2t g offt Ieht wwerar a9 Sfte 99 A 36 @ i o
ot {9 i aeg 991 fgan o ait 397 164 vt o a9 wfEr i wegar sgon g4 et |

AW (R) : S5 @ 99 1 gergd vEn o fe a3 oft =i @ % dee % 9w o et w5
AR AT Iuga Twen S i A o fit faaw garfy @ f Hase @

Hhe:
Options:
(A) 3R (R) €T (R), (A) it Tt =amEm 8 |
91394357941, @ = b
(A) 3 (R) 1 |8t 8, T (R), (A) it et samean 76 7 |
91394357942,

(A) TE B, 7 (R) Terd & |
91394357943,



(A) TeTd &, 9 (R) T8 2 |
91394357944,

Question Number : 87 Question Id : 91394314749 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
“One camel goes for a penny ( dang ), but who has a penny 77

In the above statement Ziauddin Barani is referring to the state of
affairs of which of the following Sultan’s reign ?

Options:

Alauddin Khalji
21394257945,

Qutb-uddin Mubarak Shah Khalji
91394357346,

Muhammad bin Tughlag
91394357347,

Firuz Tughlag
291394257948,

Question Number : 87 Question Id : 91394314749 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

91394357945, TNoan el
91354557045, I FATH WG Wer
91394357947, e i g
91394357948, Rt e

Question Number : 88 Question Id : 91394314750 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



“In those days entertainments were common. During the days of the pilgrimages and on the
last Wednesday of the month of Safar, it was difficult to find (sitting) accommodation in the
public enclosures, in the public gardens or by the side of the tanks. There was music and
dancing on every side. These feasts would cost a tanka or more.”

Whose reign was Shaikh Nasiruddin Chiragh talking about ?

Options:

91394357949, Dalban

Alauddin Khalji
91394357950.

Ghiyasuddin Tughlag
215394257951,

Muhammad Tughlaq
91394357952,

Question Number : 88 Question Id : 91394314750 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

2915334257949,

HATIE Werat
91394357950,

91334557951,

91334557952,

Question Number : 89 Question Id : 91394314751 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
When this Sultan changed his clothes and beddings, they were sold and the money
obtained was given away as dowry to orphan girls. Identify this Lodi Sultan.
Options:

91394357953, 1prahim Lodi

91394357954 Sikandar Lodi



91394357955, Danlol Lodi

91394357956, Malik Kala

Question Number : 89 Question Id : 91394314751 Question Type: MCQ Option Shuffling: Yes Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0
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91334557953
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dEArd Argt

91334557355,

913345573956,
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Correct Marks: 2 Wrong Marks: O

Which of the following statements are correct ?
(i) Vallabhacharya was a Brahman of Andhra Pradesh but lived in Banaras.

(ii) The first to be initiated by Vallabhacharya was Damodardas with the
Brahmasambandha mantra.

(iii) In Vallabha Sampradaya the gaddi of the Guru remained confined strietly to
his descendants. None of his disciples was authorised to initiate others.

(iv) According to Vallabha, Purva-mimansa and Uttara-mimansa are two different
ways of propounding the nature of Brahma and the true shastra is the Gita.

Choose the correct answer from the code given below :
Code :
Options:

(i) and (ii) only
91334357357,

(ii) and (iii) only
913943579358,

(ii), (iii) and (iv) only
Q1=29435F959

Yes

Yes



(1), (ii), (iii) and (iv)
Q1594257 960,
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e (1) 3 (i)
913943573957,

e (i) A (iii)
913943573958,

Fad (i), (i) 3T (iv)
91394357959,

(1), (ii), (iii) 3 (iv)
91394357960,
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The spiritual successors to Shaikh Bayazid were known by different names in different
regions. In this regard which of the following i= nof correctly matched ?

Options:

Ishgiya — Central Asia and Iran
91394357961,

Bistamiya — Turkey
91394357362,

Shattariya — India
21394257963,

Nurbakhshiyva — Egypt
Q1=2942E79364, ¥ &YP
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Given below are two statements, one is labelled as Assertion (A) and the other is labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : Mid 14'F century witnessed the independence of Mabar and Bengal and the
establishment of the Vijayanagar Empire and the Bahmani Sultanate in the peninsula.

Reason (R) : In the closing years of his reign, Muhammad Tughlaq went soft towards the
regional powers and allowed them to exercise more autonomy.

Code :
Options:
Both (A) and (R) are true and (R) is the correct explanation of (A).
Q1294357965
Both (A) and (R) are true, but (R) is not the correct explanation of (A).
91394357966,
(A) is true, but (R) is false.
Q1394357967
(A) is falze, but (R) is true.
Q1=294357F9EE,
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(A) T 8, Wg (R) H&t 7 |
91394357963,
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Maulana Kabir had been Sultan’s tutor, but had gone away to Herat to seek knowledge.
The Sultan recalled him, and made him Shaikh-ul Islam.
Identify this Sultan of Kashmir who honoured his tutor.

Options:

Sultan Qutb-uddin
91394357369,

91394357970, Sultan Sikandar

91394357971, Oultan Ali Shah

51394357972 Sultan Zain-ul Abidin

Question Number : 93 Question Id : 91394314755 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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e Fqa-3¢H
91394357969,

2915334257970,

HedE 3l Mg
91394357971,

Hea™ A fedH

B91334535797%2.
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Correct Marks: 2 Wrong Marks: 0

Given below are two statements, one is labelled as Assertion (A) and the other is labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : Guillaume Adam advocates an alliance between Latin Christians and
Ilkhanid Persia, based on his assumption that Mameluk Egypt would be the common enemy
for both.

Reason (R) : The vision and plan of a naval blockade to cut off Indian commerce with Egypt
via Red Sea was a novel idea, but could never be put to practice. However, it was nearly
realised almost two centuries later by the Portuguese.

Code:
Options:

Both (A) and (R) are true and (R) is the correct explanation of (A).
9153943574973,

Both (A) and (R) are true, but (R) is not the correct explanation of (A).
Q1594257974

(A) is true, but (R) is false.
Q13943257975

(A) is false, but (R) is true.
B1334557976,
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Options:

(A) # (R) 9T (R), (A) 1 #at =gmean & |
9139435797 3. = el &

(A) 3R (R) ST 58t ¥, g (R), (A) 1 g&t =ame 7 2 |
91394357974,

(A) F# B, 9 (R) Terd & |
91394357975,
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“This emperor urged the locals and other officials not to injure the travellers and merchants,
and not to lay their hands on the property of the merchants if any one of them should die
by accident and without heirs. Also, officials were to purchase goods from the merchants
only at their market price.”

Identify this ruler.

Options:

91394357977, Snershah

91394357g7g, bar

Jahangi
Q1594257979 s

Shahjahan
91394357930.
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e

B91334357977.

2153394257975,



R

B1334357979,

L3

91334557980,
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Who said the following in the context of defining his relationship with his
foster-community ?

“Between me and Aziz is a river of milk that I can not cross.™

Options:

91394357951, Dapur
Humayun

91394357382,

91394357953, ‘AKPAr
ahangi

91394357954, i

Question Number : 96 Question Id : 91394314758 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Options:
91334357951,
913343579532, @mi
91394357953,
913943579584, i

Question Number : 97 Question Id : 91394314759 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct Marks: 2 Wrong Marks: 0



Rafiuddin Shirazi who came from Persia writes that, “I was standing in a tent-enclosure
amidst a crowd (in Agra), when all of a sudden the ery of ‘God zave the King” went up. 1
realised that the king had arrived. I saw that a youth of twenty years was leaning on a
favourite, I guessed that he must be the king. But the people performed no courtesies or
salutations to him. I was greatly surprised and asked whether there is no tradition of
paying respects to the king. They replied that the etiquette for courtiers is much more
elaborate, but the king himself is most informal. He makes no distinction between
companions and strangers.”

About which of the following rulers, is Shirazi thus writing ?

Options:

91394357055, kbar

Jahangi
Q15294357956 o

91394357957 Oapandar Shah

Muhammad Shah Rangila
91394357988,
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B1334557985.

EE

B1334557956.

ECCALRIE

91334557987,

qerg g Tften
913943573958,
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The concept of watanjagir emerged at the end of Akbar’s reign. Which of the following
statements are correct pertaining to wafan jagir ?

(i) It was a permanent and hereditary assignment.
(ii) To punish an assignee, it could be confiscated.
(iii) To reward an amir, new watan jagir could be created.
(iv) Part of the revenues of watan jagir could be given in inam.
Choose the correct answer from the code given below :
Code:
Options:
215394257989, (i) and (iv) only

(i), (iii) and (iv) only
2913342357330,

(1), (1i), (1ii), (iv)
91394357991,

(iii) and (iv) only
215394357992,

Question Number : 98 Question Id : 91394314760 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

91394357080, T ) 3 (i)

Fad (1), (iiD) 3 (iv)
Q1=394=2574990,

(1), (1i), (1ii), (iv)
91394357991,

e (iil) 3 (iv)
913943573992,



Question Number : 99 Question Id : 91394314761 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which of the following statements are correct in regard to the grants to women ?

(i) Abul Fazl speaks of grants held by Irani and Turani women.

(ii) Jahangir appointed a foster sister of his father as the special official-in-charge of grants
to women.

(iii) Mazhar-i Shahjahani refers to two categories of chaks (lands) of the a‘imma, the
chak-ha-i musammati (lands held by women) and muzakkarati (held by
men).

(iv) Aurangzeb’s farman of 1690 about madad-i ma’ash deprived a daughter of her share if
she was married or otherwise provided for; and it laid down that a widow might keep
her husband’s grant for her lifetime.

Choose the correct answer from the code given below :

Code :

Options:

(i) and (ii) only
91594357993

(i), (iii) and (iv) only
913942357994,

(ii) and (iv) only
912943579395,

(i), (ii), (iii) and (iv)
91594357996,

Question Number : 99 Question Id : 91394314761 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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e (i) 3 (i)
91394357993,

FaE (1), (iii) 3 (iv)
91394357994,

Fad (i) 3 (iv)
91394357995,

(i), (iD), (iii) =M (iv)
91394357996,

Question Number : 100 Question Id : 91394314762 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

When Shahjahan separated the office of karori /amil (revenue collector) and amin
(assessor), what per cent of the share of karori was fixed in Shahjahan’s period ?

Options:

From 5 per cent it was reduced to 2'5 per cent.
215394257997,

From 2 per cent it was reduced to 1 per cent.
291334357338,

From 7-5 per cent it was reduced to 5 per cent.
913943579399,

From 8 per cent it was reduced to 5 per cent.
21394258000,

Question Number : 100 Question Id : 91394314762 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct Marks: 2 WrongMarks: 0

Match the revenue terms given in List I with those of modern connotations given in List I1
and choose the correct answer from the code given below.

List I List IT
(Revenue Term) (Modern Connotation)
(a) Akhal (i) Cultivated and uncultivated land
(b) Bud-o-nabud (ii) Stipends distinct from tax-free land grants
(e) Idrarat (iii) Tax-free lands held by grant from the king
(d) Imlak (iv) Barren land
Code:
Options:
(a)—iv), (b)—(iii), (e)—ii), (d)—(i)
Q1294255001
(a)—iii), (b)—(iv), (e)—i), (d)—(ii)
91294358002
(a)—iv), (b)), (e)—(ii), (d)—iii)
919242358003
(a)ii), (b)—(iv), (e)-iil), (d)~(1)
91594258004,

Question Number : 101 Question Id : 91394314763 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(a)—(iv), (b)—(ii), (e)—(id), (d)—(i)
91394358001
(a)—(iii), (b)~(iv), ()i}, (d)~(ii)
91394358002
(a)—(iv), (b)—(i), (e)—(ii), (d)—(iii)
91394358003,

(a)ii), (b)—(iv), (e)-iil), (d)~(1)
91394358004,



Question Number : 102 Question Id : 91394314764 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

There was conflict between Emperor Shah Jahan and Guru Hargobind over the hunting
issue which led to a series of military clashes. The Sikh forces were led by a Pathan named :

Options:

91394355005, | idaiKhan
91394358006, Marhamat Khan
91394358007, | SndaKhan
91394358008, —paista Khan

Question Number : 102 Question Id : 91394314764 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

91324258005, Rt w
91394358006, L |
91394358007, B
91334358008, Tl W

Question Number : 103 Question Id : 91394314765 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

During whose period were two new positions titled Pant Pratinidhi and Hukumat Panha
added to the ‘Ashtapradhan Mandal ?

Options:

Chhatrapati Sambhaji
91394358009,

Chhatrapati Rajaram
913942358010,



Peshwa Balaji Vishwanath
91394358011,

Peshwa Bajirao 1
91334358012,

Question Number : 103 Question 1d : 91394314765 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

91334358009,

91334558010,

91334558011,

B1233455801%2. !

Question Number : 104 Question Id : 91394314766 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct Marks: 2 WrongMarks: 0

Which among the following painters at Akbar’s court was the son of a palanquin bearer
(kahar) ?
Options:

91394358013, Laswant

Mir Saiyyad Ali
91394358014,

91394358015, Sorwan

91394358016, —asawan

Question Number : 104 Question Id : 91394314766 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

B91334558013.



i dog st
91394353014,

B91334558015.

91334558016,

Question Number : 105 Question Id : 91394314767 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
The dominant themes of Kangra school of paintings were :
(i) Krishna-Radha
(ii) Shiv-Parvati
(iii)  Nayikabheda
(iv)  Samyoga and Vivega
Choose the correct answer from the code given below :
Code:
Options:

(1), (i), (iii), (iv)
91334358017,

(i) and (iv) only
91394358018,

(ii) and (iv) only
91394358019,

(i), (i) and (iii) only
91394258020,

Question Number : 105 Question Id : 91394314767 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Femeren 1 Fmer Weft * geg fawg o .
(i) FaE

(i) gt

(i) ATl

(iv) =g 3t o

fr= i T g2 § @ Wt I H gh
He:

Options:



(1), (11), (1ii), (iv)
91334558017,

e (1) 3 (iv)
91394358018,

Ao (i) 3 (iv)
91394358019,

Fae (1), (i) 3 (iid)
91394358020,

Question Number : 106 Question Id : 91394314768 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Match List I with List 1T and choose the correct answer from the code given below.

List I List IT
(Artist) (Title received)
(a) Abdus Samad (1)  Zarrin Qalam
(b) Abul Hasan (ii) Nadir-ul Asr
(¢) Muhammad Husain of Kashmir (iii) Shireen Qalam
(d) Ustad Mansur (iv) Nadir-uz Zaman
Code :
Options:
(a)—ii), (b)—(iv), (e)—(i), (d)—(iii)
91594358021,
(a)iv), (b)—(iii), (e)—(ii), (d)—(i)
1942358022,
(a)—(1), (h)—(ii), (e)(iii), (d)—(iv)
Q1=2942358023,
(a)—(iii), (b)—(iv), (e)—(i), (d)—(ii)
91594358024,

Question Number : 106 Question Id : 91394314768 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

(a)ii), (b)-iv), (e)-1), (d)1ii)
H1334558021.

(a)—(iv), (b)—(iii), (e)—(1i), (d)—(1)
B9133455802%2.

(a1}, (b)—(ii), (e)—(ii1), (d)—(iv)
Q1594258023

(a)—(ii1), (b)—(iv), (e)=1), (d)—(ii)
B1334558024.

Question Number : 107 Question Id : 91394314769 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which of the following is the last example of the use of Tughlaq batter (sloping buttress) ?

Options:

91394358005, rasan Khan's tomb

91394358026, o2 Khan's tomb

91394358007, ‘rdham Khan's tomb

9139435g00g, oper Shah’s mausoleum

Question Number : 107 Question Id : 91394314769 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Frfefiaa & & -0 TR Qres-Fiely gaEgr R ae-its & FET 1 HAfon IgE 8 7

Options:

T I Hehall
91334558025, i

BHT G149 =l Hebadl
2153394258026,

B1334558027. G

ISR 1 Tl

B1334558028

Question Number : 108 Question Id : 91394314770 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Given below are two statements, one is labelled as Assertion (A) and the other is labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Asgsertion (A) : Manuecei says, “On arrival for embarking at Surat, you find plenty of money.
For it is the principal trade of the nobles of India to place their money on speculation for
firangis’ countries — France, England and even for Italy.”

Reason (R) : Although the trade by the nobles was only a fraction of the total trade in the
country, it did imply diverting a part of the resources siphoned off from agriculture into
domestic and foreign trade.

Code :
Options:

Both (A) and (R) are true and (R) iz the correct explanation of (A).
215394258029,

Both (A) and (R) are true, but (R) is not the correct explanation of (A).
91594258030,

(A) is true, but (R) is false.
91394 25E031.

(A) is falzse, but (R) is true.
Q1=294358032,

Question Number : 108 Question Id : 91394314770 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

(A) # (R) q9T (R), (A) i Tt sgrean & |
91394358029, T wd ¢

(A) 3 (R) 31 @t €, T (R), (A) 1 9t samem T R |
91394358030,

(A) T8 B, T (R) Teid 2 |
91394358031,

(A) T &, WG (R) &t 2
91334353032

Question Number : 109 Question 1d : 91394314771 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
Aliwal Khan was the architect of which of the following buildings ?

(i) Mausoleum of Hasan Khan Sur
(ii) Sher Shah’s mausoleum
(iii) Adham Khan's tomb

(iv) Humayun’'s tomb

Choose the correct answer from the code given below :

Code :
Options:
(i) and (ii)
91294358023

(iii) and (iv)
Q13942585034

(i) and (iii)
91334558035,

(i) and (iv)
Q139425 E03E,

Question Number : 109 Question Id : 91394314771 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Feftae @M frefafiaa wadi & @ fras awegs o 2
() &6 @ g H aHa
(i) T A
(iii)  3EH GH F TFAU
(iv)  EAT{ 1 HFaT
Fr= fog e g # & wE I w g
2

Options:

(i) 3 (i)
Q1394258023

(iii) 31T (iv)
91394358034,

(i) 31T (i)
91394358035,

(ii) 3 (iv)
91394358036,



Question Number : 110 Question Id : 91394314772 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

“When Charans from a chiefdom of Rajasthan represented to a Mughal emperor and
complained about atrocities perpetrated on them by their Raja, the emperor evaded the
complaint by saying that he is a Mota Raja.”

Identify the Raja, his chiefdom and the Mughal emperor who called him ‘Mota Raja’ from
the following :
Options:

Raja Udai Singh of Jodhpur and Emperor Akbar
213942358037,

Mirza Raja Jai Singh of Amber and Emperor Jahangi
Q1=2942E502E. ! & pe B

Raja Rai Singh of Bikaner and Emperor Akbar
91394358039,

Rana Raj Singh of Mewar and Emperor Aurangzeb
913942358040,

Question Number : 110 Question 1d : 91394314772 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
e TrareYT B U PR % =TT 79 T % g T T ST % 9 # e wreene # e
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Options:

et 1 T 3¢a fag ofh wgumg s
91394358037,

2153342580358, s 1 fera o w1 fi i

dtehr =1 T T T i aeag s
91394358039, e

Harg =1 T U fag ok aemme e
91394358040, ' e

Question Number : 111 Question Id : 91394314773 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In medieval India, there were cross-cultural interactions among the people of different
faiths. Mughal rulers and the nobility used to interact with Jadrup Gosain, a Brahmin
ascetic and an exponent of Vedic thought. They were impressed with his knowledge of
Vedanta, which was considered similar to Sufism.

Who among the following are known to have met with Jadrup Gosain ?

Options:



Akbar, Jahangir and Mirza Aziz Koka
Q15942558041

Jahangir, Shah Jahan and Abdur Rahim Khan-i Khanan
Q159432558042

Alkbar, Prince Khusrau and Prince Khurram
Q13942358043

Shah Jahan, Raja Bithal Das and Surat Singh Rathore
91334258044,

Question Number : 111 Question Id : 91394314773 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

91394358041 ! 3 frst it e
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91394358042,
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91394358043, g g
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Question Number : 112 Question Id : 91394314774 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Arrange in a chronological sequence the following Mughal rulers who ruled after
Aurangzeb’s death :

(i) Bahadur Shah I
(ii) Farrukh Siyar
(iii) Rafi-ud Darajat
(iv) Jahandar Shah
Choose the correct answer from the code given bhelow :
Code:
Options:

(1), (11), (11), (iv)
H1334558045,



(1), (1i1), (iw), (i)
91334558046,

(1), (iv), (i), (i)
91334558047,

(1), (iai), (i), (iv)
912334558045,

Question Number : 112 Question Id : 91394314774 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Praferfiaa gre e, fgi sftimom it geg % wverg, wea fR, it FesrgEr ssafen fifg
(i) e e 1

(i) weE firm

(i)  THI-3g =TT

(iv) EqR M8

Hr= R mu 52 & & Tt I+ g

He:

Options:

(1), (11}, (1), (1v)
91334558045,

(1), (iid), (iw), (i)
B1233455804E6,

(1), (iw), (ii), (iii)
21594258047,

(1), (111), (ii), (iv)
91334558045,

Sub-Section Number: 2
Sub-Section 1d: 913943753
Question Shuffling Allowed : Yes

Question Id : 91394314775 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (113 to 116)
Cuestion Label © Comprehension



Read the following account of Marco Polo and answer the questions that follow :

These ships [plying in Arabian Sea] are wretched affairs, and many of them get lost; for
they have no iron fastenings, and are only stitched together with twine made from the husk
of the Indian nut. They beat this husk until it becomes like horse-hair, and from that they
spin twine, and with this stitch the planks of the ships together. It keeps well, and is not
corroded with the sea-water, but it will not stand well in a storm. The ships are not pitched,
but are rubbed with fish-oil. They have mast, sail and rudder, and have no deck, but only a
cover spread over the cargo when loaded. This cover consists of hides, and on the top of
these hides they put the horses, which they take [from Hormuz] to India for sale. They
have no iron to make nails of, and for this reason they use only wooden tree-nails in their
ship-building, and then stitch the planks with twine as I have told you. Hence it is a
perilous business to go on a voyage in one of those ships, and many of them are lost, for in
the Sea of India the storms are often terrible.

Sub questions

Question Number : 113 Question Id : 91394314776 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In the Indian ships, in joining planks, which of the following techniques was used ?

Options:
Carvelling
2194258049,
Clinker technique
Q1394358050
Caulking
9194358051,
Rabbeting or tongue-and-groove technigue
91942358052 g g q

Question Number : 114 Question Id : 91394314777 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
According to Mareo Polo, Indian ships normally had how many masts ?

Options:
91394358053, OP°
91394358054, "°
91394358055, LBree
91394358056, | V°

Question Number : 115 Question Id : 91394314778 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

Macro Polo while complaining that Indian ships had only a cover spread over the cargo
when loaded, was complaining about the absence of which of the following ?

Options:
91394358057, ek
91394358058, © nte
Gudgeon
91394358059,
Steering oar
91394358060,

Question Number : 116 Question Id : 91394314779 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Macro Polo complains about the absence of iron nails. Which of the following seventeenth
century traveller also complains of the absence of use of lathe to cut the screw grooves ?

Options:

Bernier
91394358061

Tavernier
91394352062,
91394353063, | nRévenot
91394358064, ranucc

Question Id : 91394314775 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (113 to 116)
Juestion Label - Comprehension
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Sub questions

Question Number : 113 Question Id : 91394314776 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

YT aret # aedl +i Sted & o Feafefas 4 2 e afte =0 s fen sman an 2

Options:

91334558045,

GEER
B12334558050. e

Mgt TR
91394358051,

eRERIED
91394358052,

Question Number : 114 Question Id : 91394314777 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
HTeh! GiEt % ATHR WIHTT St § arara: fea oege a2 0

Options:

91334558053, =

91334558054,

91334558055,

H1334558056,



Question Number : 115 Question Id : 91394314778 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

HTehl dtelt WE 98 fireraa st & o yre e wErel § S" | 9e 9 8 d1 38 aod o 10 shad T
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Options:

913345358057,

91334558058,

T
215394258059, (%)

gf=Te
91394358060, -1

Question Number : 116 Question 1d : 91394314779 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

21394258061,

21394258062,

91394258063,

291394258064,
Sub-Section Number: 3
Sub-Section Id: 913943754
Question Shuffling Allowed : Yes

Question Number : 117 Question Id : 91394314780 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which one of the following statements regarding James Mill and his Utilitarianism is not
correct 7

Options:



As a utilitarian, James Mill was an ardent supporter of Sanskrit and Persian learning.
91394358065,

In James Mill’s opinion, the orientalists, instead of helping to eradicate the decay of oriental

despotism, were guilty of tuating it.
Q15394258068 PO guilty of perpe &

In writing History of British India, James Mill periodized Indian history on communal lines.
913942358067,

Mill sought legal solutions to socio-cultural problems of India.
215394258065,

Question Number : 117 Question Id : 91394314780 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Question Number : 118 Question Id : 91394314781 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which one of the following statements regarding the Marxist school of Indian
historiography is not correct 7

Options:

The foundations of this school, so far as the study of the national movement is concerned,

were laid by R. Palme Dutt and A R. Desai, but several others developed it over the years.
21594258069,

They tend to see national movement as a structured bourgeois movement.
91394358070,

They interpret the class character of the national movement in terms of its forms of

struggle, its strategic retreats and compromises.
915394258071, g€ teg P



They believed that access to financial resources did not determine the ability to influence

the course and direction of national politics.
9139425807 2.

Question Number : 118 Question Id : 91394314781 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Question Number : 119 Question Id : 91394314782 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Arrange the following political organizations in a chronological order, on the basis of the
year of establishment, and choose the correct answer from the code given below.

(i)  The Madras Mahajan Sabha
(ii) The Poona Sarvajanik Sabha
(iii) The Indian Association
(iv) The Bombay Presidency Association
Code:
Options:

(1ii), (iw), (1), (i)
91334358073,

(11), (iv), (ii1), (1)
91334558074,

(1i), (iii), (i), (iv)
B12334558075.

(1), (v}, (ii), (1)
H133455807E,



Question Number : 119 Question Id : 91394314782 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

(i), (iv), (1), (i)
91334358073,

(i1), (iw), (i), (1)
91334558074,

(1), (1), (i), (iv)
B1334558075.

(iii), (iv), (i), (i)
B913345358076.

Question Number : 120 Question Id : 91394314783 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Who regards the Revolt of 1857 as the “Source Spring of National Movement” ?

Options:

91394358077, L-C-Joshi

91394358075, 1o Roberts

Percival Spear
91394358079

91394358080, o Umit Sarkar

Question Number : 120 Question Id : 91394314783 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
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2. dadg

91334558078,

B12334558073.

gftra TR

B91334358080.

Question Number : 121 Question Id : 91394314784 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Against whom was ‘The Maharaj Libel Case’ filed by the followers of Vallabhacharya Sect
in 1862-63 ?
Options:

Karsandas Mulji
91394358081,

Dr. Bhau Daji
91334358082,

Dhirajram Dalpatram
913245358083,

a15943550ge  Varmadashankar Lalshankar

Question Number : 121 Question 1d : 91394314784 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

e et
91394358081
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913943580853,

- .
91334558054,

Question Number : 122 Question 1d : 91394314785 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which one of the following statements regarding ideals of the Prarthana Samaj is not
correct ?



Options:

Believed that God is one, and without form.
91394358085,

Believed in leveling down of the castes and brotherhood of man.
91394358086,

Believed in forming a different sect from Hindu Society.
91394358087,

Believed in accepting the work of medieval saints as the basis for social progress.
21394258088,

Question Number : 122 Question Id : 91394314785 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Which one of the following statements regarding tribal revolts, is not correct ?

Options:
The armed rebellion of Vasudeo Balwant Phadke (1876-77) was stirred by racial
discrimination caused by Lord Lytton’s policies.
91394358089,
The Santhals of Rajmahal Hills rebelled in 1855 because they resented the ill-treatment
given by revenue officials, oppression by the police, land-lords and moneylenders.
913942580930,
The Ahom nobility in Assam revolted in 1828 because the British authorities did not fulfil
the pledges of withdrawal after the Burma War.
91394358091,

The Wagheras of Okha Mandal rose in revolt in 1818-1819 because of the exactions by the

Gaekwad rulers of Baroda supported by the British government.
913942358092,
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Given below are two statements, one is labelled as Assertion (A) and the other is labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Asgsertion (A) : Despite the Imperial and Provincial Legislative Councils being entirely
nominated bodies till 1892, they had statutory powers of discussing budgets and putting
questions.

Reason (R) : The Ilbert Bill storm was the most extreme but by no means isolated expression
of white racism.

Code:
Options:

Both (A) and (R) are true and (R) is the correct explanation of (A).
9159423580493,

Both (A) and (R) are true, but (R) is not the correct explanation of (A).
Q15942580494

(A) is true, but (R) is false.
Q1394358095

(A) is false, but (R) is true.
H13345580396,
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Under which Act was the first examination for ICS held in Allahabad ?

Options:

The Morley-Minto Reform Act 1909
91394258097,

91394355005 1he Indian Councils Act of 1892

51394358099, The Rowlatt Act of 1919

91294358100, The Government of India Act of 1919
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atd-fimet gum sifufm, 1909
91394358097

1892 =1 WA gfteg srfafem
91394358098,



215334258099, 1919 =

913343558100, 1919 =
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Which one of the following statements regarding Imperialist approach to the writing of
Indian history, is not correct ?

Options:
The Imperialist approach first emerged in the official pronouncements of the Viceroys and
was convincingly put forward by V.Chirol, the Rowlatt Committee and Verney Lovat.
91394358101,
It was firstly theorized by Bruce T. McCully in 1940 and its liberal version was adopted by
Reginald Coupland and Percival Spear.
91394358102, P pe
Itz conservative version was made brighter and prettier by John Gallaghar and Anil Seal,
91394358103, rer 1968.
The Imperialist writers believed that India was in the process of becoming a nation.
91594255104,
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Which one of the following statements is not correct regarding the peasant movements in

India ?

Options:

91334558105,

9133453558106,

91334558107,

913345558108,

In 1929, Swami Sahajanand Saraswati formed Bihar Provincial Kisan Sabha.

Utkal Kisan Sangha was established in 1938 by the Congress Socialists.

The Congress Socialist party activist N.G. Ranga organised a number of peasant marches in
Andhra in 1933-34 and demanded the abolition of zamindari.

In 1935, N.G. Ranga and E.M.S. Namboodripad tried to spread the Peasant movement in
Madras Presidency and organised the South Indian Federation of Peasants and
Agricultural Labour.
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Mateh List I with List II and choose the correct answer from the code given below.

List I List IT

(Feminists) (Their work)
(a) Mary Wollstonecraft (i) Stri-Purush Tulana
(b) Tarabai Shinde (i) Vindieation of the Rights of Women
(¢) Pandita Ramabai (iii) Women's Suffrage Movement

(d) Millicent Garrett Fawcett (iv) The High-Caste Hindu Woman

Code :

Options:



(a)(iv), (b)—(iii), (e)(il), (d)—(1)
91394358103,

(a)—(ii), (b)—(i), (e)—(iv), (d)(iii)
912343558110.

(a)—(iii), (b)—(ii), (e)~iv), (d)—(i)
912334558111,

(a)—(iv), (b)—~(1), (e)—(ii), (d)—(iii)
91334358112,
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(a)—(iv), (b)—(iii), (e)(ii), (d)—i)
91334255109,

(a)—(ii), (b)—(i), (e)—(iv), (d)—(iii)
912343558110,

(a)—iil), (b)id), (e)-{iv), (d)—~1)
912343558111,

(a)—iv), (b)—(i), (e)—(ii), (d)—(iii)
H133455811%2.
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Which of the following options shows the venue and year of first session of Indian National
Congress ?
Options:

Bombay, 1883
Q91594258112

Caleutta, 1883
91334558114,



Bombay, 1885
91394358115,

Calcutta, 1885
Q91=2942558116.
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heiehtl, 1883
913345558114,

@i, 1885
91394358115,

heiehtl, 18856
91334558116,
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From among the following Enlightenment philosophers, who did neof belong to this group ?
Options:

91394358117, Edmund Burke

91394355115, Dewis Diderot

91394358119, Laward Gibbon

91394358120, D2vid Hume
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H133455811%5.

9123345581149,

sfas
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Who said, “The only hope of India is from the masses. The upper classes are physically and
morally dead™ ?

Options:

41394358151, Dr. B.E. Ambedkar

91394358122 Swami Vivekananda

41394358123, E.V. Eamaswami Naicker

91394355124 Mahatma Gandhi
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Which one of the following journals/newspapers, is not associated with Dr. B.R. Ambedkar ?

Options:



Jagruti
91394355125, &

Mooknayak
91334358126,

91394355107, sanishkrit Bharat

91394358125, anata
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Who among the following was not a member of Congress Socialist Party ?

Options:

Sripad Amrit Dange
91394358129,

Achyut Patwardhan
91334358120,

91394355131, [varendra Dev

Jay Prakash Narayan
91394358132,
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Which one of the following was not a member belonging to the pre-Marxian Socialist
group ?

Options:

91394355133, Denis Diderot

91394355134 Robert Owen

91594358155, Charles Fourier

91394358135, Ouls Blanc
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Which one of the following statements’ authorship is wrongly attributed ?

Options:
“The individual must die, so that the nation may live. Today, I must die so that India may
win freedom and glory.” — Subash Chandra Bose
91394358137,
“At the stroke of midnight hour, when the world sleeps, India will awake to light and
" —
91594358158, freedom.” — Jawaharlal Nehru
“The fight that was commenced in 1920 is a fight to the finish, whether it lasts one month
or one year or many months or many years.” — Chittaranjan Das
21594258159,
“Very soon, the final battle will begin. Its outcome will be decisive. We took part in the
struggle and we are proud of having done s0.” — Bhagat Singh, Sukhdev and Rajguru
2915942558140,
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Who among the following was not associated with the Kakori Conspiracy Case 7

Options:



91394358141 opaukat Usmani

91394355142, iam Prasad Bismil

91394358143, Chandra Shekhar Azad

Ashfaqulla Khan
913943558144
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Question Number : 137 Question Id : 91394314800 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which Nagaland Queen raised the banner of rebellion against foreign rule on the call given
by Gandhiji and was imprisoned for life ?

Options:

91394358145, ant Gaidinliu

91394358146, 1oni Ambika

Rani Meitei Jagoi
H1334558147.

Rani Rongmei
91394358148,
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Wheo donated hundred acres of land to Vinoba Bhave in 1951 that encouraged Bhave to
start “Bhoodan Movement” ?
Options:

Vedre Ramachandra Reddy
91394358149

Konda Venkatram Reddy
913942358150,

Pingali Venkatram Reddy
91394258151,

Nukala Ramachandra Reddy
91394258152,
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Jehet Teg
91394358152,
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Who from among the following persons did not influence Gandhi during his formative
years ?

Options:
Charles Bradlaugh
A1394358153.
91394358154, 90nn Ruskin
91394358155, David Thoreau
Leo Tolstoy
Q1294358156
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Question Number : 140 Question Id : 91394314803 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Who said the following words ?
“A University stands for humanism, for tolerance, for reason, for the adventure of ideas and
for the search of truth. It stands for onward march of the human race towards ever higher

objectives. If the universities discharge their duties adequately, then it iz well with the
nation and the people.”

Options:



Dr. Rajendra Prasad
91394358157,

91394358155, LT S- Radhakrishnan

91394358159, Pandit Jawaharlal Nehru

91394358160, Dr- Zakir Hussain
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Given below are two statements, one iz labelled as Assertion (A) and the other iz labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.
Assertion (A) : Historians must be sensitive to moral ideas of today and those prevalent in
the past.

Reason (R) : Distortion in history writing has an element of willfulness or intellectual
neglect which excludes innocent misconstrual or misapprehension.

Code :
Options:

Both (A) and (R) are true and (R) is the correct explanation of (A).
91594358161,

Yes

- Yes



Both (A) and (R) are true, but (R) is not the correct explanation of (A).
Q15942558162

(A) is true, but (R) is false.
Q13943EE163.

(A) is false, but (R) is true.
91334558164,
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91394358163, A
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91394358164, g
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Match List I with List 11 and choose the correct answer from the code given below.

List I List I1
(Author) (Book)
(a) David Arnold (i) Provincializing Europe : Postcolonial Thought and Historical
Difference
(b) Stanley Wolpert (ii) Seience, Technology and Medicine in Colonial India
(¢) David Kopf (ili) Gandhi’s Passion
(d) Dipesh Chakrabarty (iv) British Orientalism and the Bengal Renaissance
Code:
Options:

(a)—(iii), (b)(iv), (e)(ii), (d)—(i)
91394358165,



(a)—ii), (b)—(iid), (e}—(iv), (d)~1)
91394358166,

(a)(iii), (b)~(1), (e)-iv), (d)—(ii)
91534358167,

(a)—i), (b)—(ii), (e)—~(iv), (d)—(iii)
91334558165,

Question Number : 142 Question Id : 91394314805 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
gt 1%t gt 11 & gafaa Fifse ot = g mo ge 4 9 ad so 6t 9fw )
1 T I
(vrEh) (geT)
(a) e smies () SfEETERfET 49 die-iaiad 9ie ie i fewa
(b) et afead (i) @7gw, SFciol e AT 57 Hiciae gean
(c) sfas e (i) reftsT dorT
(d) dimskad]  Gv) @RW siftgefasw U g 9w Harg

&2
Options:

(a)—(iii), (b)—(iv), (e)—(ii), (d)—(i)
91594358165,

(a)ii), (b)—(iii), (e)—(iv), (d)~(1)
91334255166,

(a)—(iii), (b)~(1), (e)-liv), (d)—(ii)
91234358167,

(a)—(i), (b)ii), (e)—(iv), (d)(iii)
91234358168,

Question Number : 143 Question Id : 91394314806 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

When did the Indian National Congress set up the National Planning Committee chaired by
Jawaharlal Nehru, for prescribing a policy for economic development in a soon-to-be-free

India ?
Options:

B912334558169. 1934

91334358170, 1938

H91334558171. 1939



912334558172, 1944

Question Number : 143 Question Id : 91394314806 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

YR s g F 3w wEaa 29 et wid # anfi faewm i Aifa Faife w3 % fou Saseme
T5% I ercaran ¥ wa Uedta Frarem afife it wamen 6t oft 2

Options:

91334558169, 1934

2915334258170, 1938

91334558171, 1939

9133455817%2. 1944

Question Number : 144 Question 1d : 91394314807 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Which one of the following was nef a principle under Panchsheel Treaty 7
Options:

Mutual respect for each other’s territorial integrity and sovereign
G139432E8173. W 1gnty

Non-sharing of national natural resources
91394358174,

51394358175, Mutual non-interference in each other's internal affairs

91594358176, Peaceful co-existence

Question Number : 144 Question Id : 91394314807 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Freafafiga # & s v d=efta dfy % sifa fagia a8 @ 2
Options:
it el srgear o gt w1 TrEafE AT FE
91394358173, %{{ﬁ

st sl WETEET S AT T HEAT
91394358174,



Th-GH % TR qTHel § TREfh AEEsy
91394358175.

Tiiferqul wg-srferea
91394358178,

Question Number : 145 Question Id : 91394314808 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Match List I with List II and choose the correct answer from the code given below.
List I List IT
{(Author) (Work)
(a) Judith M. Brown (i) The Phases of Indian Nationalism
(b) Mushirul Hasan (ii) Britain and Indian Nationalism : The Imprint of Ambiguity
(e) David A. Low (iii) Gandhi : Prisoner of Hope
(d) D. Rothermund (iv) India’s Partition : Process, Strategy and Mobilization

Code :
Options:

(a)—(i), (b)—ii), (e)—(iii), (d)iv)
91234358177,

(a)—(ii), (b)—(iii), (e)—iv), (d)—(i)
912334558175,

(a)—(iii), (b)—(iv), (e)—(il), (d)—(i)
91334358179,

(a)iv), (b)—(1), (e)—{ii), (d)—(iii)
91394358180.

Question Number : 145 Question 1d : 91394314808 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
gt 1%t gt 11 & gafea Fifsw ot = g 7o $e 4 9 a8 3+t g

qer1 Ll
(vrer) (FR)
(a) Afe% @R, §3 () g $oi9 37 37847 AvElersH
(b) FRE g (i) T U $feaT dAlosw : g sfEie e i
(c) Sfaw et (i) et fw s ET
(dy & Ugwe  (iv) §fegrT widfem : sidw, et e AifaemayT

Fe:
Options:

(a)—(i), (b)—ii), (e)—(iii), (d)-iv)
91234358177,



(a)—(ii), (h){(iii), (e)—(iv), (d)—(i)

91394358178,

(a)(iii), (b)(iv), (e)(ii), (d)—(i)
91394358179,

(a)—(iv), (b)—(i), (e)(ii), (d){iii)
91394358180,

Sub-Section Number : 4
Sub-Section I1d: 913943755
Question Shuffling Allowed : Yes

Question Id : 91394314809 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension

Questions: No
Question Numbers: (146 to 150)
Cuestion Lateal Comprehension

Read the following passage and answer the questions from that follow :

“The nationalist movement was from the beginning zealous in defence of civil liberties.
Hence, the nationalists fought against the attack by the colonial authorities on the freedom
of the Press, speech and association, and other civil liberties. Jawaharlal Nehru, perhaps,
was the strongest champion of civil liberties. He assigned as much importance to them as he
did to economic equality and socialism. The resolution on fundamental rights, passed by the
Karachi Congress in 1931 and drafted by him, guaranteed the rights of free expression
through speech and Press. Secularism was from the beginning made a basic constituent of
the nationalist ideology and a strong emphaszis was laid on Hindu-Muslim unity.
Furthermore, it was clearly understood that the objective of unifying the Indian people into
a nation would have to be realised by taking into account regional, religious, caste, ethnic
and linguistic differences. The cultural aspirations of different linguistic groups were given
full recognition in 1921 by organizing provincial and area committees of the Indian
National Congress along linguistic lines and not according to British-created multi-lingual
provinces. From its earliest phase, the Indian nationalists accepted, with near unanimity,
the objective of complete economic transformation of the country on the basis of modern
industrial and agricultural development, with a view to make India economically
self-reliant, to be based on independence from foreign capital, creation of an indigenous
capital goods, the foundation and development of independent science and technology.”

Sub questions

Question Number : 146 Question Id : 91394314810 Question Type: MCQ Option Shuffling : Yes Display Question Number
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Why did the British deny civil liberties to Indians ?
Options:

91394358181 Indians were not fit for it

For exploiting India economically
9133425818%.

- Yes



To project cultural superiori
91394355183, prol pe o

Because Indians were educationally backward
91334358154,

Question Number : 147 Question 1d : 91394314811 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Which one of the following did Jawaharlal Nehru not believe in ?

Options:

9139435515, Freedom of Press
91394355186, | rocoom of speech
91394358157, Scouansm
91394358188, | onome mequally

Question Number : 148 Question Id : 91394314812 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In wielding India into a nation, what was considered by the Indian Nationalists as an
essential requisite ?

Options:

End of economic exploitation
913943581859,

Granting civil liberties
215394258190,

Preserving its multi-cultural diversity
91394358191,

Propagating Hindi as a national language
91394358192, pagaling gHag

Question Number : 149 Question 1d : 91394314813 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
How were the cultural aspirations of Indians fulfilled by the Indian National Congress 7
Options:

By representing all sections of Indians in the organisation
91394358195,



By introducing elections to the organisation
91394358194,

By creating multi-lingual provinces
Q]139425H195, Y 8 guaip

Bv advoeating Khadi Gramod
Q139432EH19E, Y 8 OB

Question Number : 150 Question Id : 91394314814 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which one of the following principles was not advocated by the nationalists to make India
self-reliant ?

Options:

Growth of science and technology
291394258197,

91394355105, ndustrialization of India

Inviting foreign capital for the establishment of big industries
Q139435H199. 8 P '8

Creation of indigenous capital goods
Q1=294=2E5200, dlg P &

Question Id : 91394314809 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (146 to 150)
Cuesticon Label | Comprehiension

Freferfaa maio = afge oit 3o =g e e et & s i
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&t afire wewa o, Foran fop anfefes oomman afte gamsrame 6t | 387 1931 7 st S 4 wdifes
s & a § arfte e o e dun e o | 55 e d v e 3 % arerm @ st
&t waaaar 6t T € w5 oft | aifrtearar w sy & @ wegardt faamama s g ved awwn T
aftt femg feem wahat w Wil wre foan | g arfefid, a8 v w9 & wwsn mn fs afta, i,
sferTa, Femdta it et frmared S e w5 g U Ty % ®9 § WA F9G1 i T & g
# =iae 1 Ievd wed g | 1921 § vt s W Rt aefta g i aedte ofit el afufe
#i faa # fira-firg wrorft @ygl 6t giesfas smetanatt it spfter fen mn, 3 f frea-Ffifa

- MRt WTdl % SATHR T | 7 TR S0 § WA teganfeat 1 eme gdeeta 8@ st
fo 1 & Q1 anfifer waiar 1 @en sy it vd Fiy-deadt fawm &, oo fageh Gt & g9
BF % SR W WA i anfdes gfee o sren-Fnf samn s, sl St gt s Faf gt eik
e fagm v draifieh % fasa A smarfien wh s )

Sub questions

Question Number : 146 Question Id : 91394314810 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
ffem 3 vt =it i wadwad =4t 2t <f 2

Options:

912334558181, I A A

W o e i % foe
91394358182,

HieHfas deadr waH & foe

H912334558183.

ife e 4t w9 @ ol gu
912394358184,

Question Number : 147 Question Id : 91394314811 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Fr=feafiaa & @ fras S 5% = favam 38 a1 2
Options:

91394358185, T '

913345558186, i

91334558187, A

91334558188,

Question Number : 148 Question 1d : 91394314812 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
T TS & ¥ ° Wi & Fmfo 3 few wietn weganfeat & fraet v atfemd smavasan o 2

Options:

91334558189, T

AT Tadaanat 6t &t
91394358190,

wrefae fafquar % @
91394358191 s e



weh TS W % w9 F B & v e
91394358192

Question Number : 149 Question 1d : 91394314813 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
W st i 3 form wehn e wiesfe smenianadt it g fen 2

Options:

Hred # Wit % @it ant w6t wfaffie g
91394358193,

HiTEA | T19 & HEMED
91394358194, T

ag- ATt =t 1 Fwior s
91394358195,

et grreT < SR e
91394358196,

Question Number : 150 Question Id : 91394314814 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
weganfeat grn wra it stren-Fnft war & fog Frefafias @ @ fra fagia 6 Sl a2 i g 2

Options:

forgm wd dteifieh i dafy
Al12a42E8197.

9133435581958, *

a2 FemT it T % fog fageh Ot =t smeEm
91394358199,

w2t gtr wr @ St

91334558200



